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World Sudoku Championship 2019

Kirchheim, Germany

Monday, 30" September

09:00 — 09:25 Round 1 Individual: Countdown Classics 25 min 250 points
09:40 — 10:25 Round 2 Individual: World Cup 1 45 min 450 points
10:45 — 11:25  Round 3 Individual: Pieces of Cake and Tough Cookies 40 min 500 points
11:40 — 12:30  Round 4 Individual: All 81 50 min 550 points
14:00 — 15:00  Round 5 Individual: Arrows, Lines and Circles 60 min 600 points
15:15 — 16:05 Round 6 Individual: Double Dutch 50 min 500 points
16:30 — 17:15  Round 7 Individual: World Cup 2 45 min 450 points
17:45 - 18:30  Round 8 Team: Clueless 45 min 1800 points
Tuesday, 15t October

09:00 — 09:40 Round 9 Team: Circle 40 min 1600 points
09:55 — 10:25  Round 10 Team: 3D 30 min 900 points
11:05 — 11:50  Round 11 Individual: World Cup 3 45 min 450 points
12:05 - 12:30  Round 12 Individual: Relay 7x7 25 min 250 points
14:00 — 14:30  Round 13 Individual: Linked 30 min 300 points
15:00 — 15:45  Team Playoffs: Kropki Connection

16:30 — 18:00  World Cup Playoffs
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Competition Rules

Scoring and Bonuses

Points will be awarded only for fully and correctly solved puzzles. In general, there is no partial credit unless stated
otherwise in the round’s description.

Individual Rounds

A bonus of 10 points for each full remaining minute will be awarded to any competitor who correctly solves all
puzzles in a round. A partial 60% bonus can be awarded if one puzzle is incorrectly solved, under the condition
that the puzzle is solved completely or almost completely and the competitor may have believed their solution to
be correct. In case of doubt, the decision will be made in favour of the competitor; the decision of the judges is
final.

Team Rounds

A bonus of 40 points for each full remaining minute will be awarded to any team who correctly solves all the puzzles
in a round. If there are any mistakes, then no bonus will be awarded.

Competition Hall Rules

1. All competitors have to sit at their pre-allocated desk in individual rounds. Teams have to work at their
pre-allocated desk area for team rounds.

2. Prior to the start of each round, competitors must ensure they are at their desks ready for the start of the
round. Late arrivals may not be permitted to enter the competition hall to take part in a round (at the discretion
of the organizers).

3. Prior to the start of each round, competitors have to clearly write their name, team and reference number on
the front page of their competition booklet into the allocated space. If this information is not complete, then the
organizers reserve the right not to award any points to that competitor for that round. Competitors must not open
their booklets before the official start of the round.

4. When the signal for the start of the round has been given, competitors may open their booklets and begin
solving the puzzles.

5. During each individual round, competitors have to keep silent, unless declaring completion of a round.
6. During team rounds, team members may talk to each other, but should do this with respect to other teams.

7. To declare a round complete, a competitor must close their booklet, clearly state “finished” and raise their arm
with the booklet. The competitor’s arm must be raised until the booklet is collected. The same rules apply for the
team competition.

8. Competitors or teams who complete a round with more than five minutes in advance, are allowed to leave the
competition hall quietly.

9. Competitors or teams who complete a round with five minutes or less left are not allowed to leave their desks
or tables in order to cause no unnecessary disruption to fellow competitors.

10. When a competitor leaves the competition hall for any reason, they may not be allowed to continue in that
round (at the discretion of the organizers).

11. When the signal is given that the round is finished, competitors have to stop solving immediately, close their
booklets, put their pens or pencils down and their hands up with their booklets for collecting.

12. At the end of a round, competitors have to remain seated until all booklets have been collected. The signal to
get up and leave will be given by the supervisor.

13. Mobile phones and electronic devices are not permitted to use in the competition hall. The devices have to be
turned off and must not be placed on the competitor’s desk.

14. Only team captains and official observers equipped with a name tag are allowed to enter the competition
hall while either individual or team rounds are taking place. Other non-competing participants may enter the
competition hall at the discretion of the organizers.

15. Competitors may not use cameras or other recording devices during rounds. Only official observers may do so,
at the discretion of the organizers. They have to respect the competitors and not use flash photography or cameras
with excessive sounds.

16. When a competitor believes that there is a problem with a puzzle, they must clearly state that puzzle is wrong
by writing “Wrong puzzle” next to it. The competitor must not notify the organizers during the round. This will
be investigated upon completion of the round.



17. Puzzles can be completed in any order within a round. The points’ value of a puzzle is an indication of its
expected difficulty, although individual solving experience may differ. The difficulty of an example puzzle does not
necessarily reflect the difficulty of the corresponding competition puzzle.

Permitted items

18 Permitted items which can be used in the competition hall (unless stated otherwise) are: pens, pencils, pencil
sharpeners, erasers, rulers, blank papers and instruction booklets annotated with notes regarding puzzle instructions
and preparation notes.

19. Drinks and snacks are permitted as long as they do not disturb other competitors with a strong smell or
rustling packet.

20. It is strictly forbidden to use electronic devices such as music players and headphones or any type of calculator.
Use of such equipment may lead to the disqualification of the competitor.

21. Any other items brought into the hall must be kept in a bag on the floor and placed under the competitor’s
desk, so as not to block the aisles.

Marking and Queries

22. When a round has been evaluated, fully marked booklets are returned to a team member equipped with a
country tag at a given location in a given time. Country tags will be distributed to each captain prior the start of
the championships.

23. In case of any query after a booklet has been evaluated and returned to a competitor, the query must be raised
through a team member with country tag to the organizers in the specified time. The schedule for the queries will
be published before the competition. The booklet should be left with the organizers for investigation.

24. Puzzles may be photographed during the marking phase in order to prevent subsequent interventions.

25. Team captains are responsible for ensuring that any information given to them related to the competition is
effectively relayed to their team.

Breach of Rules

26. Any breach of these rules may lead to penalty points, or in severe cases to a competitor or team being
disqualified from the round or competition.

27. The decision of the WSC tournament director (Richard Stolk) is final.

Final Remarks
28. In case of a major mistake in one of the rounds, organizers reserve the right to cancel the round, either by
removing it from the time schedule, or by not awarding any points for it to any of the competitors.

29. The official puzzle booklets will contain one or multiple puzzles per page in the individual rounds. The rules
of the puzzle and the corresponding points are always written next to it.

30. The official puzzle booklets will not contain puzzle examples. Therefore, we recommend to bring the Instruction
Booklet, which contains an example of every puzzle which will be part of the championship.

31. In the team rounds, the official puzzle booklets may contain neither puzzle rules nor examples. It is advised to
bring at least one Instruction Booklet for a team for these rounds.

32. In any case of inconsistency between this Instruction Booklet and the official puzzle booklets, e.g. rules or
points, the information in the Instruction Booklet will be considered valid.

33. In the competition hall, a timer counting down to the end of the round will be visible for all the competitors.

Puzzle Credits

Authors will remain anonymous individually until the solutions are distributed. The organisers would like to
collectively thank Arvid Baars, Silke Berendes, Stefan Heine, Sebastian Matschke, Christoph Seeliger, Richard
Stolk and the World Puzzle Federation for the example and competition puzzles.



World Sudoku Championship and Sudoku World Cup

This year’s World Sudoku Championship will include a separate tournament, namely the Sudoku World Cup.

World Sudoku Championship

The World Sudoku Championship is the main competition, very similar to previous WSCs. It consists of 10
individual rounds and 3 team rounds. The individual ranking will be determined by the sum of the scores of all
individual rounds; there are no individual playoffs. The competitor with the highest total score will be declared
World Sudoku Champion. In case of a tie in the top 3, one single tiebreaker puzzle will determine the final ranking.
Details will be announced when the situation arises. In case of a tie outside the top 3, all competitors with the
same total score will share the same rank.

The team ranking will be determined by the sum of the individual scores of the four team members, plus the scores
of the team rounds. The four teams with the highest total scores will qualify for the team playoffs. In case of a
tie, all teams tied for fourth place will qualify for the team playoffs.

Team Playoffs

Teams will start the playoff with time offsets based on the preliminary results: The team that has qualified as
fourth starts the playoffs exactly three minutes later than the team that has qualified as first. The other teams
start with an offset based on the number of points of the preliminary rounds, related to the number of points of
the first qualified team and the fourth qualified team.

The playoffs consist of two different puzzles. It is up to the team to decide in which order the puzzles are solved
and which team members work on which puzzle. This may even vary during the playoffs. When both puzzles are
finished they notify the judges to enter the submission period. The entire solution will then be checked over the
next two minutes. After two minutes, if the solution is correct, the team is declared winner, or second or third. If
the solution is incorrect, the judges will return the puzzles to the team, without notifying in which of the puzzles
is a mistake. Teams can resubmit a returned puzzle at any time, and will again enter the submission period.

The team playoffs end when three teams have finished. If this has not happened after 60 minutes, the playoffs will
be aborted; the final ranking is determined by (a) scored points where a 6x6 Sudoku is worth 50 points and a 9x9
Sudoku is worth 115 points, (b) total team score of the preliminary rounds.

Sudoku World Cup

The Sudoku World Cup is a new knockout tournament, partly included in the World Sudoku Championship, and
replaces the individual playoffs from previous years. It starts with three regular puzzle rounds. In the first round,
all players compete. After the first round, the top 100 competitors advance to round 2. The second and third
round are similar, with 40 respective 10 competitors advancing. For the ranking in each round only the scores of
the current round are considered, results of earlier rounds are not counted.

In case of a tie after round 1 or round 2, anyone tied for 100" or 40" place will advance to the next round. For
round 3 the situation is different: If there is a tie for 10*" place, the competitors who scored better in round 2 will
advance, and if that fails to distinguish, the competitors who scored better in round 1 will advance. If there is still
a tie after that, a single tiebreaker puzzle will decide who advances; details will be announced when the situation
arises.

Competitors who have been eliminated in an earlier round must still join the later rounds and solve the puzzles
since these rounds count also as normal WSC rounds.

Individual Playoffs

The 10 best players of round 3 qualifiy for the individual playoffs. In the first semifinal the qualified numbers 7-10
compete. The winner advances to the second semifinal and competes with numbers 4-6. The winner of the second
semifinal qualifies for the finals, together with the numbers 1-3.

In each of the semifinals and final, 5 sudokus have to be solved in a given order.

When a play-off competitor completes a puzzle, they hand their solved puzzle to a judge to enter the submission
period. The entire solution will then be checked over the next minute. After one minute, if the solution is correct,
the judge will allow the competitor to begin the next puzzle. If the solution is incorrect, the judge will return
the incorrect puzzle to the competitor, without notifying where the mistake is. The competitor can resubmit a
returned puzzle at any time, and will again enter the submission period.

When one competitor has solved all puzzles correctly, the round ends. If this has not happened after 30 minutes,
the round is aborted. In this case, the winner of the round or the final is determined by (a) number of correctly
solved puzzles, (b) time of the last correct submission, (c¢) total score of the three preliminary World Cup rounds.



Round 1 Individual: Countdown Classics
25 minutes — 250 points

1.1 Classic Sudoku ... 25 points
1.2 Classic Sudoku ........ ... .o 20 points
1.3 Classic Sudoku ... 20 points
1.4 Classic Sudoku ... 25 points
1.5 Classic Sudoku ... 35 points
1.6 Classic Sudoku ... 30 points
1.7 Classic Sudoku ..........o i 30 points
1.8 Classic Sudoku ......... ... 30 points
1.9 Classic Sudoku ... 35 points

1.1 — 1.9 Classic Sudoku

Place a digit from 1 to 9 into each of the empty cells, so that each digit appears exactly once in each row, column
and outlined 3x3 block.
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Round 2 Individual: World Cup 1
45 minutes — 450 points

2.1 Classic Sudoku ... 20 points
2.2 Classic Sudoku ... 30 points
2.3 0-9 Kropki Sudoku .............o i 70 points
2.4 Anti Clone Sudoku ... 65 points
2.5 Consecutive Sudoku ........ ... . i 30 points
2.6 Extra Regions Sudoku ......... ... ... .o 40 points
2.7 Neighbours Sudoku ........ ... .. .. .. i 45 points
2.8 Odd/Even Stars Sudoku ...............coiiii. 60 points
2.9 Scattered Sudoku ............ . 50 points
2.10 Windoku ... 40 points
2.1 + 2.2 Classic Sudoku 20 + 30 points

Apply Classic Sudoku rules.

2.3 0-9 Kropki Sudoku 70 points

Place a digit from 0 to 9 into each of the empty cells, so that no digit repeats in any row, column or outlined 3x3
box.

A white circle between two cells indicates that the neighbouring digits are consecutive. A black circle between two
cells indicates that one of the digits is twice as big as the other digit. The absence of a circle indicates that there
is no neighbouring digit that is either consecutive or double.

. .

o

9l1/5]o0/6e3]|8e4a]|7
oo oo
. 63 8|1/7/5l2/0 09
00 o o 00 o o

o 71402/ 908|3e605
+ o gls5/3|714]6 o+1$2
oo . o oo . o
41615297083
oo o] O o]
o o 217193/ 001|60504

———0 ———0
o 118/6lol3!/7lae2]0

oo oo
0 ! 0 0|9 4]|605/2¢91 708
. . 5 2|7 ae8]/0|9 306




2.4 Anti Clone Sudoku

65 points

Apply Classic Sudoku rules. Digits may not repeat within a dotted outlined area. Digits may also not repeat
within dotted outlined areas with the same shape. Rotated and/or reflected areas count as the same shape.
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2.5 Consecutive Sudoku
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Apply Classic Sudoku rules. In all cases where two neighbouring digits are consecutive, this is indicated with a

grey bar.
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2.6 Extra Regions Sudoku
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40 points

Apply Classic Sudoku rules. Within each coloured region each digit must appear exactly once.
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2.7 Neighbours Sudoku 45 points

Apply Classic Sudoku rules. Digits outside the grid have to be placed in the given order as direct neighbours in
the corresponding row or column.

6 8 3 6 8 3

3 1 4 3 1
4 713 9 4 713/2/8]5/4|711]|6/|9
7 8 1/7/6]13|/2|9|4/8|5
1 6 4 2 1 6]9|5|/4|1|6 81273
1 418/5]19/1|3)|7|2]|6
3 4 8 6 3 4129 /1]|18|7|6]5|3|4
5 6|/3|7]2/5/4]19/18
9 5 2 3 9 5|8|1,2]6|9|5]3 |47
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8 2|5 1 8 2|5|/4 3|78 |2]6|9]|1

2.8 Odd/Even Stars Sudoku Sudoku 60 points

Apply Classic Sudoku rules. If a cell with a star contains an odd digit, all horizontally and vertically adjacent
cells contain an even digit. If a cell with a star contains an even digit, all horizontally and vertically adjacent cells
contain an odd digit. Cells that are not marked with a star don’t have this property.
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2.9 Scattered Sudoku 50 points

Place a digit from 1 to 9 into each of the empty cells, so that each digit appears exactly once in each row, column
and outlined region and in the nine grey cells.

51817]131112]16]|9]4
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4 1 2141986 |5|7]1|3
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7 6 1,7]14,/9/8,3]2]6 |5
9 7 693|521 4]|7)8
516 |7/8]9 3/12/5]16|7/8|9|4/|1
41118|7]19]16]3]5]2
2.10 Windoku 40 points
Apply Classic Sudoku rules. Within each coloured region, each digit must appear exactly once.
411/3|6|5(7]2|8]|9
6|1 8|7/512 39161 4
216914 1/8]|3|5|7
8 4 918 113|627 |4|5
3/5/2]18|7]/4]|9|6]|1
8 714/615(9/1|8|2 |3
5127118 |3|4|9|6
5 1,3, 819/ 4/6]5|7|2
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Round 3 Individual: Pieces of Cake and Tough Cookies
40 minutes — 500 points

3.1 Classic Sudoku ... 15 points
3.2 Classic Sudoku ... 30 points
3.3 Even Sudoku ... 15 points
3.4 Even Sudoku ... 40 points
3.5 Thermo Sudoku ...... ... .. 30 points
3.6 Thermo Sudoku ...... ... ... 75 points
3.7 Distance Sudoku ........ ... ... 40 points
3.8 Distance Sudoku ......... ... 80 points
3.9 Biggest Neighbours Sudoku .............................. 65 points
3.10 Biggest Neighbours Sudoku .................. ... ... .. 110 points
3.1 + 3.2 Classic Sudoku 15 + 30 points

Apply Classic Sudoku rules.

3.3 + 3.4 Even Sudoku 15 + 40 points

Apply Classic Sudoku rules. Grey cells contain even digits.

1 915 7 114, 6|18 39|52 |7
2 5/2|716|1 41398

3 1 9/8 /3|72 |5|1|/6|4

4 7/6114/9/8|2|5|3

5 2,943 |/5/1]|8 7|6

6 835127694 |1

8 7 6581914 3|7 |1)|2

8 3/7/9]1/6/2]4 /8|5

4 215 9 411|2|5(8|7]6|3|9
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3.5 + 3.6 Thermo Sudoku 30 + 75 points

Apply Classic Sudoku rules. The digits in each thermometer are, from the bulb to the/each end, all different and
placed in increasing order.
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3.7 + 3.8 Distance Sudoku 40 + 80 points

Apply Classic Sudoku rules. Clues outside the grid indicate the distance (in steps) between the digits in the
corresponding row or column. Digits are placed in order of appearance.

Qe " e ®»
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5-7:6 5-7:6]6 |8 |5]12[9(4]13 |17
1-9:8 1-9:8|1|3|2|5|7|6]4|8|9
1-6:4 1-6:414|7/9]1|8|3]|]5/|6]|2
3-5:3 3-5:3]7/6,3|8|1/5]19|2 |4
1-8:1 1-8:115|1 /814|296 ,7 |3
3-7:2 3-7:212|9/4]13|6|7]8|5]|1
857193 |1|2|4]|6

1-3:5 1-3:519|4|1|6|5|2]|7|3|8
2-5:7 2-5:713 2|6|7,4]/8|1|9|5

3.9 + 3.10 Biggest Neighbours Sudoku 65 + 110 points

Apply Classic Sudoku rules. If there are arrows in a cell, they point to all biggest neighbours in the horizontal or
vertical neighbouring cells.
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Round 4 Individual: All 81

50 minutes — 550 points

4.1 Circles Sudoku ...
4.2 Double Kropki Sudoku ............. .. ... . L.
4.3 Greater Than Kropki Sudoku ............................
4.4 Hidden Skyscrapers Sudoku .............. ... ... ... ...
4.5 Killer Sudoku ...
4.6 Little Unique Killer Sudoku .......... ... ... ... ... ...
4.7 Quadruple Sudoku ...
4.8 Star Products Sudoku ......... ... ..
4.9 Sum by X Sudoku ...
4.10 Three Is a Crowd Sudoku ................... ... ... ....

4.1 Circles Sudoku

30 points

45 points

40 points

70 points

85 points

25 points

59 points

55 points

65 points

30 points

Apply Classic Sudoku rules. The digits on the circles have to be placed in the same order in the four cells that are

touched by the circle. The circles may have to be turned in the correct position.
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4.2 Double Kropki Sudoku 45 points

Apply Classic Sudoku rules. Adjacent cells containing digits with a difference of 2 are marked with a white rhombus.
Adjacent cells containing digits with a ratio of 4 are marked with a black rhombus. Adjacent cells without marking

must not contain digits with a difference of 2 or a ratio of 4.
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4.3 Greater Than Kropki Sudoku 40 points

Apply Classic Sudoku rules. In all cases where two digits have a consecutive value or one digit is two times as big
as the other digit (or both), a greater than sign is placed. Digits have to be placed in accordance with the sign.
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4.4 Hidden Skyscrapers Sudoku 80 points

Apply Classic Sudoku rules. Each digit represents a skyscraper of the given height. A cell contains one or more
arrows if and only if the digit in that cell correctly indicates the number of skyscrapers visible in the direction of
the arrow(s). Higher skyscrapers block the view of lower skyscrapers. All possible arrows are given.
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4.5 Killer Sudoku 70 points

Apply Classic Sudoku rules. The digits placed in each marked cage must sum to the total given in its top-left.
Digits must not repeat in cages.
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4.6 Little Unique Killer Sudoku

85 points

Apply Classic Sudoku rules. Clues outside the grid indicate the sums of digits in the direction of the corresponding

arrow. Digits may not repeat within a sum.

3 17 12 22 20 30
¥ ¥ ¥ ¥ ¥ ¥

::7
5
15\ \13
13
W N
23
W N o
8
W
S\

AAAATS
26 15 30 12 17 2

4.7 Quadruple Sudoku

¥ ¥ ¥ ¥ K

3 17 12 22 20 30
¥ ¥ ¥ ¥ ¥ ¥
3/9/2|8|6|4]5|1 7
8/6|1]3|5/7]|9|2]|4
4/7/5]9/2/1]|8|3|6
6|4/8|5[7 3|29 1
2/3/9]4|1/8|7|6]|5
1/5/7|2/9 6|34/8
9/2|4|6|8|5[|1|7]|3
7/8[3]1/4]2]6|5]|9
5/1/6|7/3/9]4]8]2
AAAATS
26 15 30 12 17 2

13
17
35

AAAAN

25 points

Apply Classic Sudoku rules. Each set of four digits in the intersection of two lines indicates the digits that have to
be placed in the four adjacent cells. Greater than signs indicate which digit is the greatest/smallest of the two.

< I
2778
<
V——3567
|
e 3478 3589
3578 — 2557
<
3469 — 3489
> <
3377 4589 m—
|
3478 \
>
4689 \V
it

|
1]|4<6 2|7 /5]3
5|93 7]8|1<2
8|72 134 6|09
3478
4|3 8l6 |21
9|8 6]l3|4<7
3469 — 34
26 3<4]9|8]5
4589 mum—
6|5 1|12 94
\
3>2 51|76
711 9|5>3 |8

—V




4.8 Star Products Sudoku 55 points

Apply Classic Sudoku rules. Clues outside the grid indicate the product of digits in all cells marked with stars in
the corresponding row or column.

16 24 60 168 63 54 240 30 20 16 24 60 168 63 54 240 30 20
g |- g2 7/6|lsal1]s]s
s PP 8|5 " a7 38]ols]2
7 B 5 ¥ a0l 3 "8 ol 2] 1|5 a7
o P | ool 54lel7]2]1]s
3 |- H ¥ 2|86 2]o" s]3]|7 "
%0 P ol71a]1]28%[6]5 0
54 B sale s 3]elalo]72]1
48 P Y sglalol7]1]s5%]%8 6
35 5 H s|1l2/8]l3 6la]ols

4.9 Sum by X Sudoku 55 points

Apply Classic Sudoku rules. Clues outside the grid indicate the sum of the first X digits in the corresponding
direction, where X is equal to the digit in the first grey cell from that side.

6 22 20 41 45 9 7 40 20 6 22 20 41 45 9 7 40 20
8 19 8126 |83 |7|9]11|5]4]19
27 36 27114 /5,911,826 |7 3|36
11 6 4 17 "My1]7,3|6|5[4|2|9]|8]|17
40 2 9 5 4017 3|28 /4,1]19|6|5]5
45 45 4516 14159 3)|7|8)|2]|45
40 5 3 23 4019 8|57 2]|6]13 /4 1]23
30 2 7 25 3018, 4|612 3, 7]15|1,9]|25
7 14 7152119, 68|43 |7]14
19 26 1913974 /1|5]|8|2]6]26

16 11 25 41 45 30 27 6 30 16 11 25 41 45 30 27 6 30
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65 points

4.10 Three Is a Crowd Sudoku

Apply Classic Sudoku rules. Clues outside the grid show the three digits that have to be placed in the first three

cells from that side. However, exactly one digit of each triplet is wrong. On each side of the grid (top, bottom,

left, right) all of the wrong clues are different.

2 1 1 3 1 4 4 1 2
6 2 4 5 4 5 7 7 8
8 6 7 8 9 6 9 8 9

M~ N~ OO ©O OO0 OO0 O <

N © 00O M I~ © < N I~

= «= IO N S N M <« L

I~ 0 O I~ © © I O

< <5 N 0O 0O MO N o

- M N N N «+ « « <

1 151 2 4 3 2 1
2 3 8 4 3 5 7 45
6 7 9 9 7 9 9 8 6

2 1 1 3 1 4 4 1 2
6 2 4 5 4 5 7 7 8
8 6 7 8 9 6 9 8 9

N N O © O O O S ©
N © 0 M~ © < N I~
— = DN A N M - W
Njo|lolo| ~ | w| | o
ol dA|m]lo|bvw| ot ||~
Nl w]lo|d|la]loom
olN|[t]d || ~]lo | 1
mlo|dlst|o w]o|~| N
i~ ojln|o|Oo]lm| |-
g omi~lw|o|ld]la] 0| o
vl olo| o~ m| <
oo/~ m]ld |1 ©
N~ 00 OO N © © I 0O
S St N O MM N MmO
— M N N N A A - <

1 1 5 1 2 4 3 21
2 3 8 4 3 5 7 45
6 7 9 9 7 9 9 8 6
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Round 5 Individual: Arrows, Lines and Circles

60 minutes — 600 points

5.1 Alternating Stripes Sudoku ............ ... . ... ... ..., 35 points
5.2 Arrow Sudoku ... 35 points
5.3 Between Sudoku ........ ... ... 80 points
5.4 Cloned Strands Sudoku ......... ... ... ... ... 25 points
5.5 Counting Neighbours Sudoku ............................ 60 points
5.6 Diagonal Sudoku ......... ... ... 40 points
5.7 German Whispers Sudoku ............ ... .. ... L 60 points
5.8 Missing Arrow Sudoku ........ ... ... .. 50 points
5.9 Mathrax Sudoku ........... ... ... . 60 points
5.10 Odd-Even Bridge Sudoku ................... .. ool 50 points
5.11 Palindrome Sudoku .......... ... ... . L. 35 points
5.12 Schaltplan Sudoku ....... ... ... . 35 points
5.13 Search Nine Sudoku .............. ... ... ... ......... 35 points
5.1 Alternating Stripes Sudoku 35 points

Apply Classic Sudoku rules. “Large” and “small” digits alternate along the grey stripes. A “large” digit is larger
than its neighbours on the stripe while a “small” digit is smaller. Digits may repeat on stripes.

619 3 2/1/6]19|5/3|4|7|8

915 6 9/5|7|1/4 8|3 |62
6 314/8|7|2/6]|5|9|4

4 1 6 81 9/4|5|1|2|7|3|6

4 9 713|246 ,9]42|8|5

8 2 561138 7|2|4|9

6 412|963 |5|8/17

7 2,3 175|189 /4]6 2|3

6 2 119 683127 ]1]19|5 4
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5.2 Arrow Sudoku 35 points

Apply Classic Sudoku rules. Digits placed in a cell with a circle must be the sum of the digits placed in cells the
adjoining arrow passes through. Digits may repeat on arrows.

9 2 587117169423
1 8 6 9|1 3|147,2]|8|5]|6
2 9 6 4/2]15/8/3]7/9]|1
3 2 854139, 7]11|6 2
4 712191641538
3 5 36118259 4)|7
7 6 417|512 |3|8]6|12 9
1 8 7 113/ 8|9/5)6|2 74
9 7 2/9/6]|7/1/413/8]|5
5.3 Between Sudoku 80 points

Apply Classic Sudoku rules. Digits on each line must have a value between the digits that are placed in the circles
at both ends of the line.

6 7 9

=

)]

IS
P O IN P OO W | O
W O o, |INjJOTJoO | N |
NI | R, | 00 Wlh~|O© |
)W Ao & N~ DN
P IRhIN]JO | 01 DDJW | O] ©
O IN|[OfF, | W | M N|O1]0
O R, | BjJOoIIN OO | N|W
O 0  WIN|O/joOoI |~ | B~
N O INjW A ]l

5.4 Cloned Strands Sudoku 25 points

Apply Classic Sudoku rules. Each strand must have exactly the same sequence of digits. Digits may repeat on
strands.

AP WO O | NJOO | N |O

0 O NJOO || Wk | &~O

N I OT O] O l]O| W|

| ONP~ | | OJO || W

= | Bl | 0| QOO | N | ©

N W O |k Ol |00|N

O O PN I N|Ojw |01 >

O | N | &AW | O ([P O | 0
W | N==0o === | N | © |
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5.5 Counting Neighbours Sudoku 60 points

Apply Classic Sudoku rules. A digit in a cell with a circle indicates the number of different digits in all horizontal,
vertical or diagonal neighbouring cells. A digit in a cell with a cross indicates the number of different digits in all
diagonal neighbouring cells. All possible circles and crosses are given.

8

w
= o N |(OGINOJTW | O | N
W O | oOfN || JOF | N
N IO NJW OO R,rjJO ||
0O l1o |~ |INI>x N W
NPl W NJ | OO
AN IO | O© | O, | N | O
OO RO, | N WIN|O01]©
N W N]JO | OO0
O PO | N OIN | W|P>

5.6 Diagonal Sudoku 40 points

Apply Classic Sudoku rules. On both marked diagonals, each digit must appear exactly once.

N jo|lw| v Ao o |
N R RN o o]l | ul|lw
olo| | wla| o r|A|~N
AR |o|lo|N | w]lo N o
| ~N ok @ vw ~lo
wlo|N|jo | s vk |o |~
Plw| NN o | ©
o Niolo | w ok~
olo|(sIv ik | N]o|w| o

5.7 German Whispers Sudoku 60 points

Apply Classic Sudoku rules. Adjacent digits along the marked line have a difference of at least 5.

7 9

(o]
(o))
R O NP N R]JOT|W |

0 O | WO O | NjR |~ N
O N[O WL | © DN
W NJO | R |OTJO | O |
|0 OIN | P~ [ NjW || Ol
A IO |RJTW OO OIN|N|O
NIhOIN Ol WjO |0 |F
QP OO N | N OTH®
N W ok, |00 Ol IN|O
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5.8 Missing Arrow Sudoku 50 points

Apply Classic Sudoku rules. The grey lines represent incomplete arrows. The digit on one end of each line is the
sum of the other digits on the same line.

4 8

o¢)
~
N o eo|lojlu | rlw N
alN olr | w o|lv|w|
K w r|d4vVo|lo|o|o
olN | Alw ook |lo|M
N Ul w|lo | K lolo| XN
O kR o|X N Nv]o | w| o
o s NV o plolo|w
w e glo | XK NN E| o
HKlo N jo|lw|X | N |ow

7 3

5.9 Mathrax Sudoku 60 points

Apply Classic Sudoku rules. Some intersections of the grid lines are marked by a number and an operator (+, —,
x, /) in a circle. The number is the result of the operation, applied to both pairs of diagonally opposite cells. An
“E” in the circle indicates that all four adjacent digits are even; an “O” indicates that all four adjacent digits are
odd.

8. 6217|5119 )|3)|4
24%) 24%)
o 4 J3 719 .2 6581
(6~ 4' G-E 1- —%- (S
5| 119 \3 8 /. 4 \6 7|2
2= 2= 0 1/ E
\S N\ J J
91773114782 |5]|6
10+
2145 6wj9 3)17/1 /8
4=
618|112 7Y5 419 |3
SO0 SO0
A~ 719 f\4 873 . 2J1L6 |5
1\ \& %) ) G 2/)
15784, 677)1372.L.9
G- G-
3/2|6]15|]1]9]S8 4\977
5.10 Odd-Even Bridge Sudoku 50 points

Apply Classic Sudoku rules. There are some pairs of circles connected by bridges. Each connected pair of
circles contains one even digit and one odd digit. The even digit denotes the number of even digits along
the bridge and the odd digit denotes the number of odd digits along the bridge. The digits in the circles are not
counted. Digits can repeat on the bridges.

(o]

(6]
W O | L0 N | NP> O | 00
N O | h_FPL |00 WIN | 01| ©
N ol OO OIN |, |W
g |[RPIN]I® | O | BjJo | W DN
|0 WIN I N | PO |~ O
O [ INDNjW | OO} ([N |O
O N OINIPdPOjW | O |
AW OO | P [N]JO | 0| N
PRI N|O]J0 W OO | b
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5.11 Palindrome Sudoku 35 points

Apply Classic Sudoku rules. The digits on the grey lines form a palindromic sequence from one end to the other.

1 4

N

6]
P A OIlW O O |00 |
0 Ol Wl DD NjO R | O
N O INjJO | B Ol W|©
a NN W OO | © |-
O W L1~ OfIN|IDN|0
O NN | O Flw | bd|jo
NI ok, N hjJO|OT|W
AP INJO O WJOO | O | N
W O |Ojo |0 N, | N>

5.12 Schaltplan Sudoku 35 points

Apply Classic Sudoku rules. If two grey dots are connected by a line, the digits placed in the cells with the dots
are consecutive. All possible dots and lines are given.

1

~ o |olsfa|lotoe | w| -
K o wlslo | o]l || s
© K o|lvie | Elolo| N
gllo | E|lo | N IN|los | o
Bl vk | w]la|w|o
wl o | N]|lo X gl | o
olr o|lw o 8N © N
N N K, |o|la]lo | o | w
®w W olotxy dv[R |~ | o

5.13 Search Nine Sudoku 35 points

Apply Classic Sudoku rules. Each arrow is pointing in the direction of the digit 9 in the respective row or column,
where the digit in the cell with the arrow indicates the distance (with respect to the number of cells) from the
arrow to the 9.

2 213/419|5|7]|6|8]|1
6 5/6|7|11/4,8]2|3|9

7 1,9/ 8]12/3 6|7|4)|5

5 8/ 1/2)7/9|5]|3|6 |4

8 4156|138 (1]9|2]|7

6 3|7/9]|6]2 4]1|5|8

1 714111562893

7 68314 |1 /9]|5|7]|2

6 92|58 |7 ,3|4|1|6
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Round 6 Individual: Double Dutch
50 minutes — 500 points

6.1 Greater Than Consecutive & Max Ascending Sudoku . ... 45 points

6.2 Max Ascending & Round Off Sudoku .................... 60 points
6.3 Round Off & Full Rank Sudoku .......................... 45 points
6.4 Full Rank & XIVI Sudoku .......... ... ... ... ..., 50 points
6.5 XIVI & Descriptive Pairs Sudoku ........................ 50 points
6.6 Descriptive Pairs & Mathrax Sudoku ..................... 60 points
6.7 Mathrax & Pointing Evens Sudoku ....................... 60 points
6.8 Pointing Evens & Point to Next Sudoku ................. 45 points
6.9 Point to Next & Next to Nine Sudoku ................... 50 points
6.10 Next to Nine & Greater Than Consecutive Sudoku ...... 35 points

In this round, each puzzle is a combination of two Sudoku variants. The following variants appear:

Greater Than Consecutive Sudoku

Apply Classic Sudoku rules. In all cases where the difference between two neighbouring digits is 1, there is a greater
than sign between those digits. Digits must be placed in accordance with the signs.

912 (6141|8375
v A v A
< > 7014<5}12]6|3}19>8 |1
3/11(8}5/9|712)|4),6
v A v A
< < > 8<9 | 7]l3<4|1]16>5|2
A A
6 3182 |5})7]9)|4
A A v A A v
< < > 4<5]2]16<7]9>8 |13
| A | A
1 1
> 17,419, 3| 6>5|2)|38
L A—A—V A L A——A—V A
> 2181317 |5>4)1/6]9
f ‘> 5?6 9118 2 4‘>3 7

Max Ascending Sudoku

Apply Classic Sudoku rules. Clues outside the grid indicate the length of the longest series of ascending digits in
the corresponding direction.

3 3 4 2 5 4 4 5 3 3 3 4 2 5 4 4 5 3
413 912 4132516814 7,9]2
6 7 8 3 6197112 ,4|5]16|8 3|3
2 4 2 5 2168419 |7|3]2|1|5]5
3 1 3 317/5/6]13[1(4]9|2|8]3
3 8 6 3 31149182 |6]5|3|7]3
3 5 3 312/3|8)7/5|9]1|4|6]3
5 2 3 2 5181|256 |7]13|9|4]2
2 6 5 5 214163119 |8]7|5|2]5
215 115 2159|714 /3|2]|8|6|1]5

2 5 3 4 2 2 3 2 6 2 5 3 4 2 2 3 2 6
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Round Off Sudoku

Apply Classic Sudoku rules. When considering two digits in each cage as a two-figure number, the number on the
top left of each cage must be the result of rounding off the two figure number in the cage to the closest multiple of
10. 1-4 are rounded down, 5-9 are rounded up.

915 2|7 119514 |3|6|2|7]|38
70" 77T P10 A 70" 7270 2077772
] . : . 7 1368921415
""56"1----,' 10 _:ZZZ,I'""‘ "'"56"1.-.-,' 40____‘::," """
4 | ] 1 51 19 402811 |7 |53]69
""5—_[6:_' = o 1_"_':"" ""5—_[6:_' — 100_1_'_'_'.:""
Sl N O I O SO O 6 7328 p9)si4l
4 7 5|/8|4]|3 6 |1|7|9)2
1007773 80" 100"~ -0 80_" 77
2 ! . ! . 6 2| 1[9]|5:4):7]|8i3|6
o __Z_ZIT -"]-6-(;: — 60----:::?"" '"'Ié—&: —
8 |\ 19 3| |4 85749 1 |3})6 |24
30____111,:""‘ "'"%6::1.-.-,' 30____‘111,"""‘ "'"%6::1.-.-,'
(3 | 40t)6]2/8]9;5] 7]
6|2 18 9|6 |27 /5/4]1|8)|3

Full Rank Sudoku

Apply Classic Sudoku rules. From left to right, right to left, top to bottom and bottom to top you can read 4x9=36
9-digit numbers in the solved Sudoku. A clue gives the position of the 9-digit number starting from there in a list
which is created by ordering this 36 numbers starting with the smallest.

2 17 13 25 6 36 29 24 9 2 17 13 25 6 36 29 24 9
3 11 311 547,298,631
8 20 8126|713 |8]4|9|5]20
12 26 1238 9|5/ 4/6|1,2|7]26
16 5 16149 8|3/ 6|7|5/1|2]5
21 14 2116 13|12 9|57 8 4]14
18 23 18]5/7,2|8]1]4]9|3|6]23
33 30 3191|516 |7|3]|2|4]8]30
31 4 3118 4|69 /5 2|13 |7|1]4
27 35 27117 ,2|314/81]16|5|9]35

28 7 10 15 32 1 22 19 34 28 7 10 156 32 1 22 19 34
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XIVI Sudoku

Apply Classic Sudoku rules. Adjacent cells with digits summing to 6 are marked by VI, while those summing to
11 are marked by XI. All possible VI and XI are marked.

9/ 6|712|5|8|1|4]3
XI—XI XI==X
vi 4 8 >TI 1vi5 317|618 9 >Tl 2
\ \
21314 917 | 6X 812|314 |1|9)|7)|6x5
X X X1 = X X X1 =
X 1 X 3 X 2x9 |1l 7x4 |5 3x8]| 6
6 1 4|811|9|3}2|5]|7
X VI—— VI X VI—— VI
5 X VI 4 3 7| 5X6 8 2V 4 19
X X
vil| 6] 8 719 |3 5vil1 | 6|82 |7)9|3]| 4
X X
9 6 718|953 |]4})6|2)|1
- X1 —— XI ——XI X - X1 —— XI ——XI X
>=| \‘| 4 |1 3|2 >=I 91 6|1 \‘I 51718

Descriptive Pairs Sudoku

Apply Classic Sudoku rules. For every pair of clues (X and Y) outside the grid at least one of the following is true:

e X is in the Y*® position in that direction;

e Y is in the X*® position in that direction.

7 2 2 3 5 7 2 2 3 5
8 7 4 6 7 8 7 4 6 7
3/6[8)7|4/5]12|9|1
67 67]5/9|7]11|2|3|6|8)|4
13 25 13|14/ 2119683 5|7]25
34 4 6 3419|8412 |3|6|7|1|5]46
79 13 7916|5218 |1]719]|4|3]|13
78 4 6 78171314 |5/9|8|6|2]46
18 24 18|84 /513|921 7|6]24
36 3612765814 |3|9
89 89|11/3 /9|67 4]5,2|8
1 4 3 2 3 2 1 4 3 2 3 2
8 5 8 9 7 9 8 5 8 9 7 9
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Mathrax Sudoku

Apply Classic Sudoku rules. Some intersections of the grid lines are marked by a number and an operator (4, —,
X, /) in a circle. The number is the result of the operation, applied to both pairs of diagonally opposite cells. An
“E” in the circle indicates that all four adjacent digits are even; an “O” indicates that all four adjacent digits are
odd.

8.6 |27 ]/5]119]|3]|4
24 24%
7 7
- ~ @3 4 3f6-7 91-\2 6 5@38 1
51119143781 416T77]|2
2-)<0) (=) 2-)=( 0 1))
S / J/ S /
9,/ 7731714782 |5]|6
104 10+
Y KJ\ 214 |5 GYQ 37|18
T T
6 |8 |12 7%/5 4 .19 |3
(ex)=(1- (6+)=(102) @9-&-\ (6+)=(102)
\ J \ \ J \
N 719 f\4 8732116 |5
N\ & 2) N\ \» 2)
115784 |67T7)1372.L9
G- G-
3126151918 4\%

Pointing Evens Sudoku

Apply Classic Sudoku rules. Clues outside the grid indicate the number of even digits in the direction of the
diagonal arrow.

5 5
) A
118 2|4 5/9/1]8|6|2|4/7|3
6 9 1 3/6|7]5/9/4|2/1/|8
8 8 2|4]1/7|3|6|/5/|9
8 1/3[2|9/8 /5|74 6
4 3 7 8 6/4/5|3/1|7]9|8|2
9 2 9/7|8]4/2|6|5/3|1
1\ 1\759631824
8 4 6\1 283749165\1
6|2 8|3 4/1/6|2|5/8[3|9]|7
Vol Vol
4 4
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Point to Next Sudoku

Apply Classic Sudoku rules. If a digit N is placed in a cell containing an arrow, then the digit N+1 must be placed
in a cell pointed at by the arrow.

NI 01|00 |
(o]} NE2ININ IRV N{e]

PO WIN | > OjJO1 | N|O
O | o gk W NI | N
A ININJO |01 O O W
O O W O | NN O]
O O NN PP | B~jJW | 00| ©
WINRPJOj O OO ||
N PO N WO | O | D>
O W old | N OO0 (PN
N A OJO | O | RLIN| WO

Next to Nine Sudoku

Apply Classic Sudoku rules. Clues outside the grid show all the digits that have to be placed as direct neighbours
of the digit 9 in the respective row or column. These clues are placed in ascending order.

o BTSN S N
w
o NS S N

NITOTBARLTO N WO | O | FLPIN &
W o ol | kP OIN N MO W
O NN dMOjWw O |O1JOT W
N P OO N OOITW | O]
O Wl ooIN Ok, | DN EA -
A INOIJOO | W O, | N|OlW -
P A INJWO | OO |IIN |00 | OO0

G 0 Wl | © NI | | NLIAE DN
© O | Nk, |0 (N> OjwWw]O®

o0 N 00 01 o O o1 W
ol
o0 N 00 01 o O o1 W
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Round 7 Individual: World Cup 2
45 minutes — 450 points

7.1 Classic Sudoku ... 35 points
7.2 Classic SUdoku ... 30 points
7.3 1-5-9Sudoku ... 40 points
7.4 Disjoint Groups Sudoku .......... ... ... i 30 points
7.5 Biggest Neighbours Sudoku .............................. 65 points
7.6 Double Scattered Sudoku .............. ... ..ol 80 points
7.7 Nonconsecutive Sudoku ................. ... ... ... 45 points
7.8 Equal Sudoku ....... ... 55 points
7.9 Outside Sudoku ... i 30 points
7.10 Triangle Sums Sudoku ......... ... ... ... L 40 points
7.1 + 7.2 Classic Sudoku 35 + 30 points

Apply Classic Sudoku rules.

7.3 1-5-9 Sudoku 40 points

Apply Classic Sudoku rules. Digits in the first column indicate in which column digit 1 is placed in the respective
row; digits in the fifth column indicate in which column digit 5 is placed in the respective row; digits in the ninth
column indicate in which column digit 9 is placed in the respective row.

3 5 216148 3|9|5]|7

41917 5 49171/ 2|6|8]|3
5112 7138196 5]11|2|4

2 6 824|169 73|15
7 8 6 57132 1|8|4]|9
8 6 3 91|54 8|7|6]|2

6 13]8 9/ 6|3|85/4]2|7|1
9153 418 2|1|7(9]5|3]|6

7 2 1 7/5]12/3 6]4,9)8
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7.4 Disjoint Groups Sudoku 30 points

Apply Classic Sudoku rules. No digit can appear in the same position in different 3x3 blocks.

2134189 |1|7|5]|6

6 3189 1,7/6]4,5/3|8|9]|2
2 89512671413

3 5 9/6 3118 2]|54)|7
5|4/1)17/3/9]|2|6/|8

2 9 7/812]15/4/6|9/3|1
411|8|6|7|5]3|29

7 6 327191 /4]|6|8|5
659132 /8|1|7]|4

7.5 Biggest Neighbours Sudoku 65 points

Apply Classic Sudoku rules. If there are arrows in a cell, they point to all biggest neighbours in the horizontal or
vertical neighbouring cells.

8 F 5 o @ 17|89 |2 |5]6 § @ 4
4 1 o ¢ | 91461713 § *8 |2
2 6 o ° e 2|5 |13]16 | 8| 49 6 ¢l | 7
@ 5 ® ol ¢ 6 7111|513 § %¢8 Zl 2|6
3 N o 4 7 6 |3]|9F4 % 5 48 7|1
8 * o ¢ 3 ¢ 8| 2 Z 1+ 6% 7] 3 | 5% 9
o CHE 9 5 4 § «7 12, 3|9]11|6 |5
| e 7 4 30 91 |5|7 62|48
o 8 {7 566 2|8 4|17 03
7.6 Double Scattered Sudoku 80 points
Place the digits 1-9 in every row, column, bold outlined area and twice in the grey cells.
7 8 1 41217683 /1|5]°9
6 3 761951114 |2]|3|8
315/811/6|9]|7|2]4
5 1 7 4 2 51811 3]|7]16|4]19]2
6192141385 |1]|7
1 4 5 9 6 113/ 412|5|7]9 8|6
8 2 91115184 2|6]7]3
2 5 21413 7]19]11|8|6]5
7 9 5 4 8/71619|2 53141
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45 points

7.7 Nonconsecutive Sudoku

Apply Classic Sudoku rules. Two horizontal or vertical neighbouring digits cannot be consecutive.
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55 points

7.8 Equal Sudoku

Apply Classic Sudoku rules. In each dotted cage the sum of the odd digits is equal to the sum of the even digit(s).

Digits may not repeat within a cage.
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7.9 Outside Sudoku

30 points

Apply Classic Sudoku rules. Digits outside the grid have to be placed in the first three cells from that direction.

3 6 2
1 2 45 7 89 45
1 5 2 6
7 1
6 8 3 9
7 3
5 8 6 7
4 6 2 9
4 5 6 8
1 6 2 4
2 659 1251 2
3 9 5 6 8 1
6
5
4
4
1

7.10 Triangle Sums Sudoku

Apply Classic Sudoku rules.

OO 01 O 00 N 00 N O

W NjJoo | W | N 01N | O | FR]F

DN O | AP W|OJO | N |OTDN

© OjJoOo |k Ao | 0Nl N W]l,d W

OO |00 | OIN N RPJOO W | A~lOT

g Pl OO RPJW O OIN O (NN O

NN N WJO1 |~ | O], | 00O

O Oojol | b~ OO0 I N WO | L I N]JO DN

Rk, | O NIV OO | OITJW |~ [0

5
612 6
511
713 9
413
116 7
912 9
816 8
212 4
3

2

8

40 points

A digit placed on a triangle is the sum of the two digits that are placed in the
neighbouring cells on the short sides of the triangle. A square consists of two such triangles. It is part of the puzzle
to find out how the two triangles are positioned to form the square. All possible triangles and squares are given.

8

3
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Round 8 Team: Clueless
45 minutes — 1800 points

8.1 Negative Samurai ............................. 5x 135 = 675 points
8.2 Clueless Hidden Classic ...................... 9x125 = 1125 points

This round contains two puzzles in which a clueless element is included in two different ways.

8.1 Negative Samurai 5x135 points

The samurai consists of five different sudoku variants that overlap each other with exactly one 3x3 block. The
middle puzzle does not contain any given digit. In the competition puzzle the positioning of the individual puzzles
is clearly stated. The following variants will appear:

Anti Diagonal 135 points
Apply Classic Sudoku rules. Each marked diagonal contains exactly three different digits.
7.094|1]/6|2|3|5 |8
113 719 5/2,1|3/8|7]9 4|6
5 3/8/6]4/5/9]2|7 1
6 /3 9|7]1]/4]|8|25
8 6 4/1/8]9|2 /5|63 7
2|5/7]|8 /3|61 9 4
4 9/6 2|5/ 4|1|7.8/|3
312 815 1|4 3|27 |8|5|6.9
817|5]6]93]41|2
Anti Knight 135 points
Apply Classic Sudoku rules. Cells that can be reached by a knight step (chess) cannot contain the same digit.
3 5 4 3/19/2)7/5]1]16|8 |4
2 6 51471286391
6 7 8116139 /4|7|2]|5
8 1 5 218319174 |5]|6
9 4 2 3 975146 |2|8|1|3
6 3 7 1/ 6/4]15/3 82|79
9 5 62 911|7,3]5/4)|8
8 5 713118451962
4 2 7 4,5|8|6[2|9]1 37

31



Anti Windoku 135 points

Apply Classic Sudoku rules. Each marked grey area contains exactly four different digits.

8193

A ININITOT P | W00 | O | O
00 O PO NN W o
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N | BB |OOIN | O O |01 W
O© o NP W IFLjJOlO |
WIN|BPJOO OO OO || DN
R O |O0OIN N OJw |00 | >

Nonconsecutive 135 points

Apply Classic Sudoku rules. Two orthogonally adjacent cells cannot contain consecutive digits.

2 3 8 1

o)
N
Rlo|N]lo|lw| N]lo|w| &~
OlwiNl~M o RrlOo|o N
oo MM OOl |w|N
AN iolo|lr|lol~w|o|lw
olnlo|lw (NN~ |lo
N R wlo|d|lo]N]|o1]| o0
w o Rr|N|jlo| o[ |
ol~MNlolu|[M]|olw|[~N|F
NN Ol | o|w]lo|~|©

Non XV 135 points

Apply Classic Sudoku rules. The digits in two orthogonally adjacent cells cannot have a sum of either 5 or 10.

7 6

P O INJO | WO | N|O

N P IOOJIOTI W OOl | N | P>

AW OIN| L NJOI|O |
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O | WO | O | NN O~
G N PlIW O | N |00 O
O I N[O, N OISO W
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8.2 Clueless Hidden Classic 9x125 points

This puzzle contains nine sudokus and variants, arranged in a square of 3x3 puzzles. The nine middle blocks of the
individual puzzles form a 10** (classic) sudoku. The respective middle blocks are marked grey for your convenience.
In the competition puzzle the positioning of the individual puzzles is clearly stated. The following variants will
appear:

3x Classic Sudoku 3x125 points

Apply Classic Sudoku rules.

Between 1 and 9 Sudoku 125 points

Apply Classic Sudoku rules. Clues outside the grid indicate the sum of the digits that have to be placed between
the digits 1 and 9 in the respective row or column.

6 33 13 8 8 35 25 11 12 6 33 13 8 8 35 25 11 12
13 13712 3|4/6/9]8|5|1
14 1 3 14181413 /2/5]9/6,|7
19 19196 |5|8/1 74|23
24 5 7 2414|5197 |3|8|6|1]|2
19 19128 6|15 /4]|3|7/|9
16 2 4 16]1/3|7]6,9/2|5/4)8
20 2015/4 /1128|3796
10 6 8 1013|7294 /6]12|8|5
20 2006 9/8)5|7/1]12|3 |4

Consecutive Sudoku 125 points

Apply Classic Sudoku rules. In all cases where the difference between two digits placed in horizontally or vertically
adjacent cells is 1, this is marked by a grey bar.

9/5/2|4 /6 8|1|3]|7
= = | = = |
3| 10 0 3|/607]1|5/2|4|908
3 I 8413 /9 /7]|506]2
3 5/9/3|7/1|4|2 86

= =
6/2/8|5/3 9|7|1|4
3 1/7/4]2/8/6]3|5]9
g 0 |3 41190807 /3|6|2|5
_ﬁ _ 3 2|8 gﬂa 4119|7/3
7/3/6]9/2|5|8 /41
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Consecutive Circles Sudoku

125 points

Apply Classic Sudoku rules. Digits on each grey circle are all different and they form a strictly increasing sequence
with differences of 1. The order of any sequence can be clockwise or anticlockwise. It is part of the puzzle to find
out the start and end of the sequence.

1

6

Next to Nine Sudoku

Apply Classic Sudoku rules. Clues outside the grid indicate all direct
row or column.

o R B N N

g1 N 0 01 Ko O o1 W

4 3 3 1 1 1 2
7 6 5 8 4 3 8 4 6
1
2
3
4
5
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125 points

neighbours of the digit 9 in the respective
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Palindrome Sudoku

Apply Classic Sudoku rules. The digits on the grey lines form a palindromic sequence from one end to the other.

1

4

Perfect Squares Sudoku

125 points
716,911/8/5]13 /2|4
8/1/319|2 4]15|6 |7
2|5/ 416 |7/319 8|1
6|7,5]18|9 %1432
912113 |4 6|7%|5|8
3|4 8)7%|/5/2]11/9 /6
5|3/ 2)14|2, 816,79
419/6|2|3|7%]8|1]|5
1/87]5/6[9]2 4|3

125 points

Apply Classic Sudoku rules. A black square means that the digits in the two neighbouring cells form a double digit
square number in the reading direction. All possible squares are given.

.

5

6
4.

on
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Round 9 Team: Circle
40 minutes — 1600 points

9.1 Classic Sudoku ...... ... ... i 100 points
9.2 Chaos Sudoku ........... ... 100 points
9.3 Anti Diagonal Sudoku .......... ... ... L 100 points
9.4 XV Sudokul ... 100 points
9.5 Classic Sudoku .......... i 100 points
9.6 Circles Sudoku ... 100 points
9.7 Greater Than Sudoku ............ ... ... ... .. ......... 100 points
9.8 Kropki Sudoku ........... ... 100 points
9.9 Classic Sudoku .......... i 100 points
9.10 Arrow Sudoku ... 100 points
9.11 Battenburg Sudoku ............ ... . 100 points
9.12 Killer Sudoku ... 100 points
9.13 Classic Sudoku ........ ..o 100 points
9.14 Quadruple Sudoku ........... ... 100 points
9.15 Thermo Sudoku ......... ..o 100 points
9.16 X-Sums Sudoku .......... . 100 points

This team round contains 16 Sudokus of 9x9, which are linked through shaded cells. The 16 Sudokus are placed
in a circle (actually, it is an ellipse). The corresponding shaded cells in two neighbouring Sudokus have to contain
the same digits. The cells in the left half of a Sudoku correspond to the cells in its neighbour on the left, the cells
in the right half of a Sudoku correspond to the cells in its neighbour on the right.

9.1, 9.5, 9.9, 9.13 Classic Sudoku 4x100 points
Apply Classic Sudoku rules.

9.2 Chaos Sudoku 100 points
Place the digits 1-9 exactly once in each row, column and bold outlined region.
2 9 1 8 2/415/9|7/1/6]3|8
7 3 5 8,792 |3 /4]1/5|6
3 2 6]15/3[1)8]7/2]9]4
9 7 3 2 9/1|l6|7|5/3|4]8)|2
3 7 4,13/8|6/9(2]5|7]|1
5 4 8 9 5/2|714|1 8|3]6|9
4 8 719/4|5]12]6/8]1]3
8 6 4 118,213 6,519 ,4|7
3 8 9 5 3/6]11(8(4,9|7]12|5
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9.3 Anti Diagonal Sudoku 100 points

Apply classic sudoku rules. Each marked diagonal must contain exactly three different digits.

N ’

z
\

. , 71941623 5|8
~ 1113 719 .- 5(2 /1|3 /87|94 6
5 3/8|6]4|5/9|2/7]|1
63 9|71 |4|8 2|5
8 N 6 4/1/8|9|2|5]|6|3]|7
257183 |6]1/9) 4
4 9|6 /2541|783
13]2 8|5 . 11431278569
8|17/5|6/9|3]4/|1]2
9.4 XV Sudoku 100 points

Apply Classic Sudoku rules. All horizontally and vertically neighbouring digits with the sum 10 are marked with
X, all horizontally and vertically neighbouring digits with the sum 5 are marked with V. Adjacent cells with no
marking must not contain digits whose sum is either 10 or 5.

| |
1 >‘< 512|113 |8|7]°9 4>‘<6
! !
X 5 X 319|711 ,6x4])5)|8x2
- -
X X X 6x4|8]5|2]9Xx1|7x3
X X
X 117]2]16x4]3]18|9]5
\% \%
7 863197 |514,2]|1
v 915|418 |1|2v3|6|7
>‘< 2>‘<8 917|516 3|4
! !
Y 6 \% 4Y1 612v3 87|59
\ !
X 2 7>‘<3 514,9/6})2 |18
9.6 Circles Sudoku 100 points

Apply Classic Sudoku rules. The digits on the circles have to be placed in the same order in the four cells that are
touched by the circle. The circles may have to be turned in the correct position.

1183926745
4 2 4 2
3 4 4 1 , 7193 5p44 3 1112 675 8
9 5 9 5
1 9 6|12 4)17 58191 3|1
0 0
913|651 2]|8|7]|4
4 3 1 4 3 1
7 2 9 1 2 7 271 5 127 39 8 (14 12 9 |76
3 1 6 3 4 6
5 8 £51 1169|7523
7 4 571149124 |3|6 8] 7
g 1 9 . 1 9
7 4 4 6 4 17| 8]117 6 (494 3 |85 | 2
9 5 9 5
3/6,2)18 7514|109
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9.7 Greater Than Sudoku 100 points

Apply Classic Sudoku rules. Digits have to be place in accordance with the “greater than” signs.

| | I I | I I
>2 719>5]13>2]14]11<6<8
-V Vvt A v v V+vV—vt—FAt-v4—fv—]
< > > < 6<8 | 419>5]1]13>2<7
-V v-tvA+AfA+—Fv v V-HV-HA-AFA—F V-
f ‘> < ‘< > 3 1?2 7‘>6<8 5‘<9>4
| I | I
> > < 5>419]12>1|7]6<8)|3
A—+V4A- VA A—+V4A- VA
2 > <8 > 1 216>314<8|5]19>7 |1
A At+—A+v+—Vv A At+—+A+vH+—+V
f < ? ‘< 1 7?8 6<9?3 2‘<4 5
| I | | I |
> < > 4 1 2>1)18|3<9]17>5 1|6
A A VA VA Vv AN -V AV A Vv
< < > 91 3<7]15|4<6]8>1)2
VAtV Vv+—FvHvEa V+A+v4v+—FvHvEa
il B EEa B 8 556]15722)433¢%9
9.8 Kropki Sudoku 100 points

Apply Classic Sudoku rules. A white circle between two cells indicates that the neighbouring digits are consecutive.
A black circle between two cells indicates that one of the digits is twice as large as the other digit. The absence of
a circle indicates that there is no neighbouring digit that is either consecutive or double.

67

o

6 * . 8 3¢6|1|5|9 204
o & o o 6| 102440800953 7
oo . oo .
419|513 |7|2}8|6|1
=0 OO =0 OO
0 ‘l) 3047 f 8|6 192 |9 |5
% (o] 916 |1 { 2151394708
S 3 512/8d0 a 78613
o OO - o OO -
2159713814, 6
0o ? 0o ® 7<>8$4 102 693 |59
+ ¥ o 1 3+675 9 4708 2
9.10 Arrow Sudoku 100 points

Apply Classic Sudoku rules. Digits placed in a cell with a circle must be the sum of the digits placed in cells the
adjoining arrow passes through. Digits may repeat on arrows.

9 2

N
N Rr|IMw|[N|[(o]lo | © ]| o

O W Njo pdMOalhdh (= |00

R O WIN | O] | N|O
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Qb OfIN|0 | N, O | W
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100 points

9.11 Battenburg Sudoku

Everywhere 2 odd and 2 even digits form a checkerboard pattern, a Battenburg

marking is given. If there is no marking, the above pattern is not allowed.

Apply Classic Sudoku rules.

N O OO | MM | < |10
A M I TN | O] OO0 |~ O
LINMNOIT | OO Al M | N | ©
O 4llg M| NJLO | 0|~
OO MO T OJN| M|
ﬂz A0 | 0| ~MNlO | O | <
M~ M| © 4llg | N
4’2 O M O] O |
OO IO~ N | 441 o™
N Lo
N (o]
[ee] (o] ™
B
M -|-|-ﬁ8
N~ N
[42 (o))
T
™ © (o))
(o)) Lo
(o)) 4 o™

100 points

9.12 Killer Sudoku

Apply Classic Sudoku rules. The digits placed in each marked cage must sum to the total given in its top-left.

Digits must not repeat in cages.
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100 points

9.14 Quadruple Sudoku

Apply Classic Sudoku rules. Each set of four digits in the intersection of two lines indicates the digits that have to

be placed in the four adjacent cells.

~lojalw| o 8m4 - ™
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9.15 Thermo Sudoku

Apply Classic Sudoku rules. The digits in each thermometer are, from the bulb to the/each end, all different and

placed in increasing order.

9.16 X-Sums Sudoku

Apply Classic Sudoku rules. Clues outside the grid indicate the sum of the first X digits placed in the corresponding

100 points

0 W LA IN NjO |01 ©

OO AW 0 O, NN

N O N 01| RS | W]

AN ORI N WJO1T |00 | O

g P Ol | b OOIN DN | W

Wi Njoojol | oo NJO ||

N O N | k| AW | OO

P OO WlIN | © aNn (0| b
O© O W O] L |

direction, where X is equal to the first digit placed in that direction.

17
19

36

30

39
20

8 41

27

32 30

9 27

29 18

8

38

32 16 33

12
41
35

31

36

40

17
19

36

30

39
20

100 points

8 41 27 32 30 9 27
3/8/6]19|7|5]11|2)|4
4195112 |6]|3|7 8
1171214, 3819 /5|6
8123514769
61,4139 7]12]8|5
9/5/7]18|6|2|4|1 3
2/6/8)17/4/3]15/9/|1
713/9]16|5/1]18 4|2
514/112|8|9]|6|3 |7
29 18 8 38 32 16 33

12
41
35

31

36



Here is an example of how the link works:

2

4

1
41851169732
1/7/214|8 3|56 9
3/6/912 / 5/714|1|8
6/ 9(3|]8|7|1]2|5 |4
514 813 26|19 7
2/1/719/4|5]16|8 3
7,2|6]5/9/813(4 1
8 3/ 416[1/2]19|7]|5
9/ 5/1]7|3|4]8|2 6

Classic Sudoku

||||||||||
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|
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1
1
1
1
4
1
1
1
1
|
|
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1

s
9
8
7

|||||||||||||||||||||||||||||||||
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||||||
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I
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14 ~
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41519 3

|||||

||||||||||||||||||||

||||||||

||||||||||||||||||||||||||||

8
4
7
3
2 1|7
5/9]|8

e

||||||

|||||||||||

1
17-"77"7°
1

||||||

||||||||||||||||||||

7
5039
612 1
418 5]9

9
31
2

Killer Sudoku

r
"

8 2|6|1|5|3 |7 4

54|13 971281

9/1|17|3|2]|4]|5|6

2719 4/6|1|3

8
4
7113|142 8|5]|6

9
6
47 9|8 536,12
1/3/8|2/6/9]|7 4[5
2 6T5 1 7T4 89 3

3/4/6|5/8]1]19 2

5
——
8

Battenburg Sudoku
2
9
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Round 10 Team: 3D
30 minutes — 900 points

10.1 3D Sudoku ... 900 points

The goal of this round is to enter all or at least as many digits as possible on a three-dimensional object.
This three-dimensional object is the central part of a construction, which contains various Sudokus of size 9x9.

The following instructions apply for one or more of the provided Sudoku parts and their boundaries. For different
parts of one Sudoku different rules may apply. The central object does not contain any specific symbols, signs or
drawings; it consists of blank cells only and only classic Sudoku rules apply for this part.

| 7 The diagonal arrows point from a larger digit to a smaller one.
Diagonal lines without an arrowhead connect the same digits.

Green cells contain only even digits.

A white circle between two cells indicates that the neighbouring

—O—1@ digits are consecutive. A black circle between two cells indicates

O that one of the digits is twice as large as the other digit. The

—0O O— absence of a circle indicates that there is no neighbouring digit
(I) (I) that is either consecutive or double.

Digits have to be placed in accordance with the greater-than-signs.

The digits placed in each marked cage must sum to the total given
in its top-left. Digits must not repeat in cages.

42



Clues outside the grid indicate the difference between the largest
7 and the smallest digit in the first three cells from that side.

A

Digits placed in a cell with an arrowhead must be the sum of the
digits placed in cells the adjoining arrow passes through. Digits
may repeat on arrows.

Attention 1:

Points will be rewarded only for the digits entered on the central object. The provided Sudoku parts need not to
be filled completely.

Attention 2:
In the end, not the entire construction, but only the central object is collected and checked.
Attention 3:

Do not enter any digits on the central object before you know exactly how and at which position the central object
has to be built into the construction!

Scoring

If

1. all digits have been entered completely correctly on the central object,
2. the entire construction has been completely assembled,

3. the construction with built-in central object is held up with a clear “FINISH”,

900 points are rewarded. For every full minute of remaining playing time 40 additional bonus points are rewarded.

Partial scoring

In case the construction is not finished, 16 points are given for each cell of the central object that is correctly filled.
In case a cell contains a wrong digit, 16 points are deduced.

The individual parts of the construction are put together and secured with rubber bands (www.werkhaus.de).
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Round 11 Individual: World Cup 3
45 minutes — 450 points

11.1 Classic Sudoku ......... ..o 25 points
11.2 Classic Sudoku ....... ... i 25 points
11.3 0-9 Frame Sudoku ........... ... .. i 95 points
11.4 Battenburg Sudoku ........ ... ... .. i 30 points
11.5 Chaos Sudoku ... ... 45 points
11.6 Edge Product Sudoku ............ ... ... .ol 30 points
11.7 First Seen Odd/Even Sudoku ........................... 70 points
11.8 Magic Squares Sudoku ............. ..o 30 points
11.9 Mini Diagonals Sudoku ............ .. ... oo, 35 points
11.10 Serbian Frame Sudoku .......... ... . ... ... ..., 65 points
11.1 + 11.2 Classic Sudoku 25 + 25 points

Apply Classic Sudoku rules.

11.3 0-9 Frame Sudoku 95 points

Place digits 0-9 in every cell such that no digit is repeated in any row, column or 3x3 block. Clues outside the
grid indicate the sum of the digits in the first three cells from that side.

3 20 17 5 16 16 20 6 13 3 20 177 5 16 16 20 6 13
19 11 19129 8|06 (4|7 |1|3]|11
7 22 71014 /3121|719 |5]8]22
14 6 14117 6|39 |5]14|0]2]6
8 20 8160, 2|9/4|3|8|7]5]20
15 5 12 1518346 5/0]2 9|1]12
21 13 2119 /5] 711,826 |3 4|13
10 20 1013|614 2|9]5|8]7]20
7 14 715/2,/0)7(3|6]1]4]9]14
21 11 2114 /891501132 6|11

12 16 10 16 5 16 9 14 22 12 16 10 16 5 16 9 14 22
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11.4 Battenburg Sudoku 30 points

Apply Classic Sudoku rules. Everywhere 2 odd and 2 even digits form a checkerboard pattern, a Battenburg
marking is given. If there is no marking, the above pattern is not allowed.

9 2 914 713/8/ 65|12
2 4 611, 8112|5417 ,3|9
P P
3 7 8 52311, 7,9]18|4|6
9 2 7/19,1)15/6,314 2,8
6 9 2/3/6]18|4,119|5|7
5 6 8/ 5/4)17/9]2]11/6 /|3
e e
9 2 3 4 . 7/916,2]/5|3/8]1
— — — —
9 8 1/6/5]9/3|8|2|7)|4
3 5 3/8/214,/1,7]16]9|5
11.5 Chaos Sudoku 45 points
Place the digits 1-9 exactly once in each row, column and bold outlined region.
2 9 1 8 2/415/9|7/1/6]3|8
7 3 5 8|7,912|3 /411 5|6
3 2 6153187294
9 7 3 2 9/1|6)7|5,3]14]|8)2
3 7 4, 3/8|6/9|2]|5|7|1
5 4 8 9 5/21714,/1,8]13}6|9
4 8 719 4152|168 1|3
8 6 4 1/8/2|3/6|5]9 4|7
3 8 9 5 3/ 611/8/4,9|/7})12|5
11.6 Edge Product Sudoku 30 points

Apply Classic Sudoku rules. Clues outside the grid indicate the product of the digits placed in the first two cells
from that side.

27 42 7 10 18 12 27 42 7 10 18 12
15 4 1513[5/6|7[8[2]9|1]4]4
9,8|711/4 5]12]6|3
8 3 35 812/4/1]69|3]|8|5|7]3
9 8 819136 |7]5/4|2]8
24 2414 /6219 /51|73 /|8
1 54 5| 7/3]18/2|4]11|9|6]|54
21 4 18 2173|514 |1|8|6|2]|9]18
119812, 3|6]4/7|5
12 8 1262 4]15/7,9]13,8|1]8
6 32 21 12 5 6 32 21 12 5
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11.7 First Seen Odd/Even Sudoku 70 points

Apply Classic Sudoku rules. Odd clues outside the grid indicate the first odd digit from that direction. Even clues
indicate the first even digit from that direction.

1 7 3 9 5
8 4 6 2 6

5 8 814 /3 2]|6 7 6
9 6 6 8 5 8
5 8 5 1 1 2
1 2 2 4 3 4
3 4 4187 |6]2 9 2
1 7 3 9 5
9 7 8 4 6 2 6
8 4121|7|6[(9]5|3|8
7/6/3]5/8[1]19|2 4
5 8159814 |3|2|6|1|7]|]7 6
9 6]9/3|6]2/1(4|8|7|5]5 8
5 8184 |5]13|9|7]1|]6|2]1 2
1 2|1,7/2|6|5/8]4/9|/3]|3 4
3 413|1/4)18|7/6|2|5|9]9 2
68719251341
2/5/911/4/3)7/8|6
9 1 7 3 7
4 8 4 6 2
11.8 Magic Squares Sudoku 30 points

Apply Classic Sudoku rules. Three of the given 3x3-blocks form a magic square, which means that the sum of
both diagonals, the three horizontal lines of three cells and the three vertical lines of three cells is the same.

8 1

N P OJO N OO0 W P>

A IO IRPINOTIWIN | O | O

D

w
g O Wl | 0| PO | N DN
N Hh I OJTW | O Nk | 01| ©
W | o | NIV O | RMjJO1]| |0
O N OO | kP |OIN &M W
O W O IN|NJO | O |-
P O Ol W ol N |
O NN, | hj|OJW |0 | O
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11.9 Mini Diagonals Sudoku 35 points

Apply Classic Sudoku rules. There are mini diagonals of three cells each drawn in the grid. The sum of the digits
on each diagonal is given on the top of the diagonal.

= |

g [

g B 523 g

15§23 9

\\ I, \\ I, \\ I, 3\ 7 15 8\ 6 12 9\ 4 11
e |5 e 8 |2|9|1 4|57 6]3

,,l \\\ ,9/ \\\ ,,l \\\ ,11 6 \4\ ,9/ 3 \?\ ,21 5 \8\
19 81 19 8‘ 19 81 19 8‘
s a4 8. K 6.|4|1l2|7 /9|8 /3|5
x! 1 x! 9|5 |73 |1/8]|6 2|4

‘8. T 213|8]4a /56170
rS 8116 19419 19 rS 816 19419 19
\\ I, \\ 4 \\ I, 4\ 9 12 6\ 8 13 5\ 1 17
e 5 |, e 716|509 |43 |8]2

,,l \\\ ,,l \\\ ,,l \\\ ,5/ 8 \3\ ,7/ 2 \1\ ,4/ 9 \6\

11.10 Serbian Frame Sudoku 65 points

Apply Classic Sudoku rules. Clues on the left and the right of the grid indicate the sum of the digits to be placed
in the second and third cell in the corresponding direction. Clues above and below the grid indicate the sums of
the digits to be placed in the third and fourth cell in the corresponding direction.

10 9 9 10 7 10 9 9 10 7

12 15 1218 4]5/3/2|9,6|7]15
715911461328

5 6 516329 |7|8]|5|14]6
12 1254 /8|6 ,2,1|7,9|3
15 15139648 |7]1|5)|2
21713591846

9 9/6|318|1 4127 |5]9

3 7 3182 |1|7/6|5]4|39]7

12 14 12047 /512]9|3|6|8|1]14

11 7 10 6 11 11 7 10 6 11
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Round 12 Individual: Relay 7x7

25 minutes — 250 points

12.1A Chaos Outside Sums Sudoku ..........................
12.1B Toroidal Consecutive Sudoku ..........................
12.1C Scattered Rank Sudoku ............ ... ... ... ...
12.2A Chaos Even Sandwich Sudoku .........................
12.2B Toroidal Odd Sudoku .................................
12.2C Scattered Ordering Sudoku .......... ... ... ... ......

12.1A Chaos Outside Sums Sudoku 35 points
Place the digits 1-7 exactly once in 5 7 12 9 5 7 12 9
every row, column and bold outlined
area. Clues outside the grid indicate 7 S 71116154/ 7]12/3]5
the sum of the first two digits from 4112|3576
that side. 8 6 sla|s[7[6|2]a[2]s
Transpose the value of A and B to 712]3/2/4)16|5
the next puzzle. 13 7 1367|1523 |4])7
5/4/6|2|3|1]|7
5 6 512314 |7/6|5]1]6
7 10 9 8 7 10 9 8
12.1B Toroidal Consecutive Sudoku 35 points
Place the digits 1-7 exactly once in ="
every row, column and bold outlined n 1 70612030405
area. Some areas wrap around the lj 3lalz2lells!1]7
grid from left to right and/or from
top to bottom. In all cases where the 6 A|513l1417]2
difference between two neighbouring |
digits is 1, this is marked by a grey = 4051172 g 3 .
bar. 7120304]6l5 1
Transpose the value of C' and D to lj 216075111304
the next puzzle.

’_'L || 513041172 E'L
12.1C Scattered Rank Sudoku 45 points
Place the digits 1-7 exactly once in T i A
every row, bold outlined area and L @ 1 i 5@,--?_,: 114 2
the grey cells. A digit “X” in a cir- P o 2 i 4 E 5 :'-é_‘: 2 1
cle means that the digit in the cell - - - M — oo — A —

. th : | | \ i

is the X 'smallest nu@ber in the L ol | @ 3 6 l_g® 7 __Z!@ 4

corresponding cage. Digits cannot o i o

repeat within a cage. o ____E @ __A_'_ 116 :_5@' _?__ 7
________ - il Il I 5 >
i i ] ) 23] 4 7 | 6 |
@l _a] i gl 41615 __g@g;l
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12.2A Chaos Even Sandwich Sudoku 40 points

Place the digits 1-7 exactly once in

every row, column and bold outlined > > 3
area. Clues outside the grid indicate - 117 - 65 - 117 - 65
all digits that have even digits as di- -11 -l1/6/5/3|2]|4]|7
rect nei.ghbours on both sides in the 3 7 2 3 71sl2l714al3l6]1
respective row or column.
- 3 -16 /1113|7524
Transpose the value of E and F to 2 2134126175
the next puzzle. 1 5 4 1 5l713l6l5141l1!2
- 5 -l4/7/1]2|6|5]3
5 6 512|514 /1|7/|3]|6
12.2B Toroidal Odd Sudoku 55 points
Place the digits 1-7 exactly once in
every row, column and bold outlined 1 3 1/4/5]1316]2]7
area. Some areas wrap around the 2 6l21711 14 513
grid from left to right and/or from
top to bottom. Grey cells contain 3 4 1513|6121 711
odd digits.
2 4 217114 5]3]6
Transpose the value of G and H to 4 513l6l21711!4
the next puzzle.
7114 5]13]|6]2
1 316|271 4|5
12.2C Scattered Ordering Sudoku 40 points
Place the digits 1-7 exactly once in T G T S
every row, bold outlined area and > P S ! 5 i-!‘----?_i 6 i_:_a____A_'_E 7
the grey cells. Place different two- 3121271511156
digit-numbers in each dotted out- g et G + —t
lined box. Boxes are marked in as- I: i 41 i 6|73 |5 421
cending order such that the smallest o | . |
; : 2 2|51114)17]61]3
number is placed in box 1 and the
largest number is placed in box 12 S e ,Z_i"";{‘: 2126 ',e_é_"_é_]
(8 in the example). SR SRR - - = b oo SRR
3 7136 ]1|2]|]5]4
T R T PR
4 | 13 [ N2 4 '6 |51 3 [ 1|7y 2
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Round 13 Individual: Linked
30 minutes — 300 points

13.1 Numbered Rooms Sudoku & Skyscrapers Sudoku ....... 90 points
13.2 X-Sums Sudoku & Little Killer Sudoku ................. 70 points
13.3 Outside Parity Sudoku & Position Sudoku .............. 60 points
13.4 Edge Product Sudoku & Frame Sudoku ................. 80 points

This round contains four sets of two sudoku variants each. In every set there is a row of clues that is equal for
both sudokus, marked by circles. Finding the clues in the circles is part of the puzzle. If only one of the puzzles is
solved correctly (matching the solution of the puzzle as a whole), 50% of the points are rewarded. The following
variants appear (for each set, the top puzzle is shown first):

13.1A Numbered Rooms Sudoku

Apply Classic Sudoku rules. Clues outside the grid indicate the digit which has to be placed in the Xth cell in the
corresponding direction, where X is the digit placed in the first cell in that direction.

6 1 1 5 9 2 6 1 1 5 9 2
6 4 6142|5163 [1]|8|7|9]|4
6 1 2 6 6]7/1/8]5/9|4]6|2|3]|6
5 2 519|638 27141 5]2
3 3 31657121 |3]9|8|4]3
1 5 1 113/ 811459126 |7]1
9 1 9129417 8|63 |/5/1]1
4 1 4153|2114 /8|7 9/6]1
1 4 3 4 111,469 |7]2]15/3|8]4
4 4 41879136 5114 2|4

7 6 5 1 1 9 1 5 8 7 6 5 1 1 9 1 5 8

13.1B Skyscrapers Sudoku

Apply Classic Sudoku rules. Each digit represents a skyscraper oft he given height. Clues outside the grid indicate
the number of visible skyscrapers from that direction. Higher skyscrapers block the view of lower skyscrapers.

1 6 1 6
2 7 24,5193 /11867
9 4 2 69,7184 /513 2|1
8 5 3/1/8)7]/2|6]5|9]|4
2 6 3 2 217151216, 9|31 ,48]2
6 1 7 8645|129 |7 3
3 4 7 6 3113|914 /8|7]6|5|2]6
6 4 52|63 |7(8]4|1]9
8 5 3 418|112 |5[/9]|7|3,6
9 5 9/7/311|6|4|2|8|5
9 2 9 2
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13.2A X-Sums Sudoku

Apply Classic Sudoku rules. Clues outside the grid indicate the sum of the first X digits placed in the corresponding
direction, where X is equal to the first digit placed in that direction.

8 41 27 32 30

9

27

17

19

36

30

39

20

29 18 8 38

32 16 33

13.2B Little Killer Sudoku

12
41
35

31

36

17
19

36

30

39
20

8 41 27 32 30 9 27
3/8/6]19|7|5]11|2)|4
419|512 |6]|3|7,8
1,7,2]14,3|8]9|5|6
82351, 417/6|9
6|/1/413/9/7]12]8|5
95718621413
2/6[817/4,315/9|1
7139165118 4|2
5411128963 |7
29 18 8 38 32 16 33

12
4
35

31

36

Apply Classic Sudoku rules. Clues outside the grid indicate the sum of the digits placed in the cells in the direction
of the corresponding arrow. Digits may repeat within a sum.

26
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35\

37

32

¥
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13.3A Outside Parity Sudoku

Apply Classic Sudoku rules. Clues outside the grid indicate the number of cells in this direction which contain
digits of the same parity, until the first cell with a digit of the other parity.

2 2 1 5 1 1 2 2 2 1 5 1 1 2
5 4 5153119 |7|2]|]4|6|8]|4
2 1 2197|861 |4]15|3|2]1
4 4183 |5]|1 5 41624183 |5]1|9|7]5
5 917 816 4 513|197 /5|8]6|2 4|4
3 213 617 3 3148213 |9|6]7|1|5]3
1 512 113 1 117/6/5]12(4]1]13[8]9]1
4 715/2|3]8 3 411,/9|7]15/2,3]18|4/,6]|3
3 4 31246118 |7]9|5|3]|4
1 2 118/ 5/3]14(6[9]2|7]1]2

2 1 1 4 1 2 2 2 1 1 4 1 2 2

13.3B Position Sudoku

Apply Classic Sudoku rules. Clues outside the grid indicate which of the first three cells in the corresponding
direction contains the largest digit.

3 3 3 3 21 1 3 3 3 3 3 3 21 1 3 3
3 3 315/1|6]3[8[7]19|2|4]3
3 5 4 3 312|3]7]15/9|4]18|1 /6|3
1 8 5 1 119/4 /8612|533 ]|7]1
1 2 5 9 2 117/2,1]14|5[8]6|9]3]2
2 9 1 1 2135419 61127 8]1
3 6 7 4 1 3186912 |7/3|1/ 4 5|1
2 5 7 2 2149|5113 |6)7|8|2]2
2 7 9 2 216827 4913 /5/1]2
2 1 2117|3182 |5]14|6|9]1

2 3 3 1 2 2 3 3 1 2 3 3 1 2 2 3 3 1
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13.4A Edge Product Sudoku

Apply Classic Sudoku rules. Clues outside the grid indicate the product of the digits placed in the first two cells

from that side.

27 42 7 10 18 12 27 42 7 10 18 12

15 4 1513/ 5/6|17,/8[2]9|1 |4
9/8|7]11/4 /51263

8 3 35 812/4|/1]6/9|3|8|5|7
9 8 8191367542

24 24146 |219|5|1}|7|3 8
1 54 5| 713|182 4]11/9|6

21 4 18 211713 |5]14|1|8]|6|2 9
1,9/8]12,3|6]4|7|5

12 8 1206245791381
6 32 21 12 5 6 32 21 12 5

13.4B Frame Sudoku

35

54
18

Apply Classic Sudoku rules. Clues outside the grid indicate the sum of the first three digits in the corresponding

direction.

22 8 10 13 13 2 8 10 13 13

8 13 815/1/2|9|7|8|4|3|6
20 14 20094 |7]16|2|3|8|1 5
836514792

7 6 2/5(3)7/4/6]11/8|9

19 14 9147, 8]11,9,2]|6)|5|3
8 5 691183512 4|7
7121413511968

12 14 1216 /512,893 |74
20 8 2003/8|9)14|6|7]5|2 |1
11 16 19 15 13 11 16 19 15 13
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Here is an example of how the link works (Outside Parity Sudoku & Position Sudoku):
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Team Playoffs: Kropki Connection

This team round consists of two puzzles with nine interacting sudokus. They are connected through Kropki dots:

e A white circle between two grids indicates that the neighbouring digits are consecutive.
e A black circle between two grids indicates that one of the digits is twice as big as the other digit.

e The absence of a circle indicates that there is no neighbouring digit that is either consecutive or double.
Digits may also be equal in both grids.

e Be aware that between digits 1 and 2 the circle can be either white or black.

Individual puzzles can have multiple solutions, but because of the Kropki connection, there is only one unique
solution for the whole puzzle.

For all puzzles, regular Sudoku rules apply: Place the digits 1-6 / 1-9 in each row, column and 2x3 / 3x3 block.
The rules for each of the individual puzzles are given below. In the competition puzzle the positioning of the
individual puzzles is clearly stated. The following variants will appear:

Puzzle 1 (6x6)
Anti Knight Sudoku: Cells that can be reached by a (chess) knight step may not contain the same digit.

Arrow Sudoku: Digits placed in a cell with a circle must be the sum of the digits. placed in cells the adjoining
arrow passes through. Digits may repeat on arrows.

Clone Sudoku: In grey areas with the same shape, all digits on equal places must be identical.
Diagonal Sudoku: Place the digits from 1 to 6 in every row, column, 2x3 block and the main diagonals.

Killer Sudoku: The digits placed in each marked cage must sum to the total given in its top-left. Digits must
not repeat in cages.

Nonconsecutive Sudoku: Horizontally and vertically adjacent cells cannot contain consecutive digits.

Perfect Squares Sudoku: A black square means that the digits in the two neighbouring cells form a double digit
square number in the reading direction. All possible squares are given.

S, as in Sudoku: In the cells with letters, a digit can only be placed if it contains that letter when spelled in
English. 1 = ONE; 2 = TWO; 3 = THREE; 4 = FOUR; 5 = FIVE; 6 = SIX

Thermo Sudoku: The digits in each thermometer are, from the bulb to the/each end, all different and placed in
increasing order.

Puzzle 2 (9%9)

Fortress Sudoku: The digit in a grey cell is larger than each digit in a horizontally or vertically adjacent white
cell.

Low Sudoku: The smallest digits in every 3x3-block have to be placed in the grey cells.

Odd/Even Count Sudoku: A digit in a grey cell indicates the number of cells around it (horizontally, vertically
and diagonally) that contain digits of the same parity as the digit in that grey cell. All possible grey cells are given.

Offset Sudoku: The digit on the right side of a grey cell indicates the position of the digit in the grey cell in the
row below it.

Ordering Sudoku: Place different two-digit-numbers in each dotted outlined box. Boxes are marked in ascending
order such that the smallest number is placed in box 1 and the largest number is placed in box 18.

Renban Sudoku: Digits in each coloured area form a Renban group (a group of consecutive numbers, in random
order).

Round Off Sudoku: When considering two digits in each cage as a two-figure number, the number on the top
left of each cage must be the result of rounding off the two figure number in the cage to the closest multiple of 10.
1-4 are rounded down, 5-9 are rounded up.

Small Neighbours Sudoku: A digit in a grey cell is larger than all its horizontal and vertical neigbouring digits.
All grey cells are given.

Sum 100 Sudoku: In each row, the sum of (multi-digit) numbers in the dotted outlined cages is exactly 100.
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Anti Knight Sudoku

Apply Classic Sudoku rules. Cells
that can be reached by a (chess)
knight step may not contain the
same digit.

Arrow Sudoku

Apply Classic Sudoku rules. Digits
placed in a cell with a circle must be
the sum of the digits. placed in cells
the adjoining arrow passes through.
Digits may repeat on arrows.

Clone Sudoku

Apply Classic Sudoku rules. In grey
areas with the same shape, all digits
on equal places must be identical.

Diagonal Sudoku

Place the digits from 1 to 6 in ev-
ery row, column, 2x3 block and the
main diagonals.

Killer Sudoku

Apply Classic Sudoku rules. The
digits placed in each marked cage
must sum to the total given in its
top-left. Digits must not repeat in
cages.

1165342
3/4|2]|5/6]|1
534|216
2/1/6|4/3]|5
4211|653
6|5/3|]1]|2]|4
1/5/4)2]6|3
3|2|/6|1/4]|5
235|416
4)6 13|52
512|634
64 31f5)2]|1
216 4|3 /5|1
5 1(3|6/4|2
4126|135
1/3/5|2|6|4
6|4 2|5 /1|3
3|/5/1l4/2|6
5|14 /3]2/6]|1
162|345
2/1/4|6 /5|3
6|3 |5]|1|2]|4
4121|536
356|412




Nonconsecutive Sudoku

Apply Classic Sudoku rules. Hori-
zontally and vertically adjacent cells
cannot contain consecutive digits.

Perfect Squares Sudoku

Apply Classic Sudoku rules. A black
square means that the digits in the
two neighbouring cells form a double
digit square number in the reading
direction. All possible squares are
given.

S, as in Sudoku

Apply Classic Sudoku rules. In the
cells with letters, a digit can only be
placed if it contains that letter when
spelled in English.

1 = ONE; 2 = TWO; 3 = THREE;
4 = FOUR,; 5 = FIVE; 6 = SIX

Thermo Sudoku

Apply Classic Sudoku rules. The
digits in each thermometer are, from
the bulb to the/each end, all differ-
ent and placed in increasing order.

5
5
6
5
' '
.
L
. 4
s | =
(@] E
T W O
F 1T
S
= v —
E
3
6
6
2
4

o7

1/5|(3]|6/2) 4
4126|351
642|513
3/1|5]2/46
5/ 3/1]4/6|2
264|135
5 1/2]46

3uoma|1 2m5
2143|5196
6/ 5/1|3 4

1285 5| 3

4/ 3w6 |25 1
2" |*3]4|5]|6
5463 "1
461|235
3'5/2|11/% |4
1125643
6345 12
3/1{2)al6 |5
6 54231
5/ 3/6[1/4/|2
4/2/1|6|5 3
143|526
2| 615|314




Fortress Sudoku

Apply Classic Sudoku rules. The digit in a grey cell is larger than each digit in a horizontally or vertically adjacent
white cell.

92 1 9/2 /5143 |7|1/6)|8
2 114,715/ 6/8]3/2|9
7 68 311/2/9]15 |47
2 6 8/5/112/4/6|7|9]|3
417,6]3[9|5]2|8|1
7 1 213917814 |5|6
3 311819 546 |72
6 5/6/218|7 3|9 1|4
4 3 71914161 /2|8|3]|5
Low Sudoku

Apply Classic Sudoku rules. The smallest digits in every 3x3-block have to be placed in the grey cells.
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Odd/Even Count Sudoku

Apply Classic Sudoku rules. A digit in a grey cell indicates the number of cells around it (horizontally, vertically
and diagonally) that contain digits of the same parity as the digit in that grey cell. All possible grey cells are given.

7

o
©
(6)]
N
R MoV |loloOo]lNd | 0| w

N O RO R OJW | N|O

N ool OO Wjoo |~ |
O I N Wk, | N OIJO [ | O
W R OIN O | RO | N O1
DN OjJWw |01 | N~ |00 | D>
A IO NI | W IN]JOT| O |
O W NJO | & | PN O | 0
OO PO | N0~ WIDN
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Offset Sudoku

Apply Classic Sudoku rules. The digit on the right side of a grey cell indicates the position of the digit in the grey
cell in the row below it.

1 7 8 11624751983
6 4 519312 8|6|1|7 4

5 4|17 /813|9(1]|]5|2]|6

9 6 9/4/1|8 5|73 |62
3 9 8/ 3|/7]16|1 2|4 |5|9

5 6125194 3|7|1|8

3 1 3/5/4|11/6/8|2|9,|7
8 2 1 7181915246 |3 |1
211673 /9]|8|4]|5

Ordering Sudoku

Apply Classic Sudoku rules. Place different two-digit-numbers in each dotted outlined box. Boxes are marked in
ascending order such that the smallest number is placed in box 1 and the largest number is placed in box 18 (10
in the example).

; |7 9 '6 | 21 7|8l 9lal3|1]s
o 1] 2 als5 | 3lel 7|12 809
8 N slol1]l3l2s5]4il7 6
JN N N RARNEN SRR i
. . 2 4 ‘s (618|239l 1]a]7
--------- 10 -7 9 -7 T 10°"9F -7 9 N
1 179154 ;8]6{3]|2
4 N 314216795 s8:
! 21 5 7100 8
3| . 9 (35711618 |2|4
---------- | T I B | (I
4 7 16|48 25|93
C 218 4lols5 3|76 1

Renban Sudoku

Apply Classic Sudoku rules. Digits in each coloured area form a Renban group (a group of consecutive numbers,
in random order).

9 412 |5|18|9|(3|1|7]|6

7 8 3/9|712]/1, 68|54

1 4 3 61|87 4/ 5|9 3|2

2 1 213/9]16|(5|8]7 4|1
97| 2 1/ 5419/ 7, 2|6 |8)3

8 5 87|64 3/1]2|9|5
8 6 2 9815|643 2|7

2 4 5|6 2138 |7|4|1]|9

2 7143|112/ 9]5|6|8
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Round Off Sudoku

Apply Classic Sudoku rules. When considering two digits in each cage as a two-figure number, the number on the
top left of each cage must be the result of rounding off the two figure number in the cage to the closest multiple of
10. 1-4 are rounded down, 5-9 are rounded up.

9|5 2 | 7 119,514 ,3|612|7]8
707777777 200777777 70777727 200777727
] | : | 7131689214 ,1]|5:
R R B T s o
4 | 11 5 | i 9 4218817 5f3|6i09
— R — NS
6 1 6713218915141
4 7 5/84})}3|6|1})7|9]2
100 "~ 77 80" "1 100 "~ -7 80" -1
2 ; " ; 6 2l 109lsial7]8i3]|6
—— —— —1 ——
8 ' 19 31 4 85719 1|36 |24
TR R o T == o T
13411612/ 819}5 7]
6| 2 1|8 916|217 |5|4}11|8]|3

Small Neighbours Sudoku

Apply Classic Sudoku rules. A digit in a grey cell is larger than all its horizontal and vertical neigbouring digits.
All grey cells are given.

7 2 1

=
~
W N P~JO P OON | O | 0
Ol |oOjw | © NS | PPN
O©O NP | & NJW|O1|O
N P WOIN O |O1j00 | b~ | O
U1 O© NIN |00 AL O | W
O O, W OO NN
A IO OO | N | RPN | W|O
N O | INlPhPOTHWJO | 0|
P WOjJo N oojo | N>

Sum 100 Sudoku

Apply Classic Sudoku rules. In each row, the sum of (multi-digit) numbers in the dotted outlined cages is exactly
100.

------------------------------ -r e ———
61 | | [9] .l |3 615 87 /9 1}4]2]3
o el 1|20 7|4af3]e]lols 5!
s 3 413908 2/s5fe |17
B B R e  —— e ———— e et—
S N 3826|5714 9]
off | [ F [ e oll7 4alsf1]sf2]56
o e T 5| 1i6f2i4aiof73]8l
[ t—  — i ——— [ t— e i ———
L ]e 20 || 84396 2f5]|7]1
s sl 2 9i5|1f7]3]8 6|4
70T sl | | 2 7le[1]s |8 af3|ol2
__________ ] | [ [ N | | [
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Here is an example of the Kropki Connection with four Classic Sudokus:

M Ol ON | < N MO | AT | WO
N <O 0njo |- A IO N]JM | ©
A O N]™M | O O OIS M| N
O NI | T ™ M| AN O | <
< MOIN | H)W0n | © LINIM | JT]JO | -
O AdjJoOo M| | N < O | O N ™M

! ! ! [ ] U O O O e e
M OOIN| O] < | - M I LOIN | A< | ©
O A OJN | ™ A OIT | OIN ™M
A NI |  M]WO | © < N | O |«
O A]O | <M | N N[ A MO | O
<SS T OIM| N | WO O AjJO  N|M | <
N MO | O | < O MO | || N
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World Cup Playoffs: Semifinal 1

Classic Sudoku
Apply Classic Sudoku rules.

Nonconsecutive Sudoku

Apply Classic Sudoku rules. Horizontally and vertically adjacent cells cannot contain consecutive digits.

2 3 8 1 412,713/ 6[(8]5[1]9

8 1 4 86 319|152 |7)|4
59174 /2|6|3|8

7 3 7/1/9|5/2/6]4 /8|3
8 2 3/8|511|7]4]|9|2]|6

6 1 642183 /9]|7|5|1
2,7/1416/8/3]1/9|5

9 5 7 93612518 4|7
5 4 7 6 15/ 814 9,7]3/6|2

Fortress Sudoku

Apply Classic Sudoku rules. The digit in a grey cell is larger than each digit in a horizontally or vertically adjacent
white cell.

912 1

N O WIN| A~ || ©
O O |RPIW N O1jo | &~ DN
AN OO O FRLPJW|N | Ol
|0 OIN W NP O] D>
R I N OO0 O ~INIO | W
NITW| P, OTOOjJO | | N
O ol INNJO1 W |
W kL NJOT|0O O | N|O
O |INJO | kP W]IN (O |0
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X-Sums Sudoku

Apply Classic Sudoku rules. Clues outside the grid indicate the sum of the first X digits placed in the corresponding
direction, where X is equal to the first digit placed in that direction.

8 41 27 32 30 9 27 8 41 27 32 30 9 27
17 12 17138/ 6|19 7 /5|12 |4]12
19 4 19149 5|11 2 6|37 |84
35 117214, 3[8]9/5|6]35

36 6182|351, 41769
30 31 30161413 ,97]12|8)5]31
8 9/5|7]18|6 2141 ,3]|8

8 812687 4|3|5|/9]1
39 6 3917, 3/9]16/5/1]18[4|2]6
20 36 2005 /4|112,8,9]16|3|7]36

29 18 8 38 32 16 33 29 18 8 38 32 16 33

Kropki Sudoku

Apply Classic Sudoku rules. A white circle between two cells indicates that the neighbouring digits are consecutive.
A black circle between two cells indicates that one of the digits is twice as large as the other digit. The absence of
a circle indicates that there is no neighbouring digit that is either consecutive or double.

s * s 867 3*6 150|204
o ¢ o o N 6| 192440809537
oo ° oo °
alo|sl3l7/2]ls 61
—0 Ot 0 Ot
o) ‘l) 3014 7‘1)8 6 19295
o o
% o 96 1%2 51304708
i 3 52880 4 78613
o OO - o OO >
2159|713 /8|1]46
o) ? o ® 708?4 102 631|519
+ ¥ o 1 3+675 9 4708 2
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World Cup Playoffs: Semifinal 2

Classic Sudoku
Apply Classic Sudoku rules.

No Touch Sudoku

Apply Classic Sudoku rules. Equal digits don’t touch each other diagonally.

6 7 1 4 5/6/9|7/8/1]2 4|3

4 6 1 412|8|5|/6|3|]7]91
4 9 7131141296 |8]|5

6 7 3 9 6,4|7|8|1 5329
1 7 2115193 /4|8|7]|6

8 3 5 4 89 /3|6 |7 ]2]|5|1)|4
1 8 3/5/2|1/9, 8|4|6|7

1 4 2 118,613 4,7]19,5|2
7 2 6 3 9|/71412|/5/6|1|3|8

Anti Diagonal Sudoku

Apply Classic Sudoku rules. Each marked diagonal must contain exactly three different digits.

7.19|4]|1/6|2]|3 5|8

113 719 5/2/113|8|7]9|4|6
5 3/8/6|4/5[9]2/7]|1
63/ 9]|7/1|4]|8 2|5

8 6 411(8|9|2|5|6|3|7
2/5/7]|8|3|6]1|9]|4

4 96 2|5|4/1]7./8]|3
3|2 8|5 1143|2|7/8]5|6]9
817|/5]16/9|3|4 1|2
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XV Sudoku

Apply Classic Sudoku rules. All horizontally and vertically neighbouring digits with the sum 10 are marked with
X, all horizontally and vertically neighbouring digits with the sum 5 are marked with V. Adjacing cells with no
marking must not contain digits which sum is either 10 or 5.

| |
1 X 5 21|38 7]9|4xs6
I I
X 5 X 31971 6x4]|5]|8x2
v v
x X X 6x4 8|52 9x1|7x3
X X
x 1/7|2lexa|3]|8|9]5
V V
7 g8le|3lo|7|5]al2]|1
v ols5|4]ls8|1/2v3|6]|7
x 2xg|9f7/5/1]6|3 4
| |
v 6 v avi|efl2vs|s|7 |5 09
| |
x 2 7x3 5|4 /9|6]2|1]8

Rossini Sudoku

Apply Classic Sudoku rules. The arrows outside the grid indicate that the first three digits are in ascending or
descending order (the highest digit is at the sharp end of the arrow). If there is no arrow outside the first three
digits cannot be in either ascending or descending order.

t t
- -—|9 8,712,643 |1|5
6 2/1|5]17/9,3|6|8|4
— 6341815127 9]~
4|6 5 741611321598
— —|1/2|8]9|5|7|4|6]3
— — —|3 /59|16 /4|8|1|2 7|
- 416|257 ,9]18 3 |1]|+
819314217 |5]|6
6 - S|7]1]13[8|6]9|4)2]+
f f
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World Cup Playoffs: Final

Classic Sudoku
Apply Classic Sudoku rules.

Anti Knight Sudoku

Apply Classic Sudoku rules. Cells that can be reached by a knight’s move (chess) can’t contain the same digit.

3 5 4 3/9/2)7/5]/1|6|8|4
2 6 5/4|712|8/6|3]9|1

6 7 8/1/6]13/9|4|7|2]|5

8 1 5 218319174 |5|6

9 4 2 3 9,7|5]14/6,2|81|3
6 3 7 116,415/ 382,79

9 5 629117 |3|5/4)|8

8 5 7,3[/1|8|4/5]9/6)|2

4 2 7 415/8|6[(2|9]1|3 7

Thermo Sudoku

Apply Classic Sudoku rules. The digits in each thermometer are, from the bulb to the/each end, all different and
placed in increasing order.

o'

ol

=

©
Wikl NM|N|]o oo
ola|lblw| o|o|r | NN
~N~lolNv]o | |Rr]|s | w| o
AN olRr|N|w|lo|o|o
glirlojJo| Mo |[N|w
WiN|lo|lJo| oMo |~ |-
N N]o |~ | alw o |wg
RPlolwlvylo|la|n | o |
olprlaldv|w| ook
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Battenburg Sudoku

Apply Classic Sudoku rules. Everywhere 2 odd and 2 even digits form a checkerboard pattern, a Battenburg
marking is given. If there is no marking, the above pattern is not allowed.

9 2 9 /4/713/8 6|51 2
2 4 6/1/8l2/5/4]7 3|9

- -
3 7 8 5/2/3|1/7 9|8 4|6
9 2 7/9/1]|5/6/3|4 2|8
6 9 2/3|6|8|4, 1|95 7
5 6 8/5/4l7/9/2|1 6|3

- -

9 2 3 4/7/9|6 2/5[3/8]1
[ [T om [ [ m
9 8 1/6 5|93/ 8274
3 5 3/8/2|4/1 /7|6 9|5

Little Killer Sudoku

Apply Classic Sudoku rules. Clues outside the grid indicate the sum of the digits placed in the cells in the direction
of the corresponding arrow. Digits may repeat within a sum.

26 32 26 32
¥ ¥ ¥ ¥
3/6|(5[1/7/2]|8/9)4
2 11286 /4/9|5|3 7
35\ 35\974538261
T\ 5 7168|5402 3
3 \16 853927146\16
8 419236 |1]7|5/|8
5/4/9]7/1/3]|6/8|2
63/ 7]2/8|5|4|19
2/8|1]4/9/6]|3|/7]|5
Vol Vol
9 9
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